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Sub-Section Number: 1
Sub-Section Id: 18896029
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 1889601201 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
As per the newspaper reports Government of India has finally agreed to
purchase advanced MRMRs for its naval forces. What are these MRMRs?

ST (38 ADOEE (DB 23°85eb D265 §0 20 ed TS AT S8CDE

MRMR @ §0fen DA 8 e9ofE00D06. S MRMR €0 oade3?
1. Aircrafts
PN
2. Warships
ANOI"Een
3. Submarines
23050 EN
4. Radar Systems
030 VRN
Options :
1.v1
o 8o
3 % 3
4 % 4

Question Number : 2 Question Id : 1889601202 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The percentage of irrigated land in India is about
2 BESTFOS DL 25D FEHO 0T
1.-45
2. B5
3.35
4. 25
Options :
1. %1

o ® oo
3. ¥ 3



Question Number : 3 Question Id : 1889601203 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Raman effect involves
&3 1806 ae3Y TP (5327650 GOENOE

1. scattering of light
S*0e3 DOT NO

2. diffraction of light
SP0ed ANEY IO

3. interference of light
$T0e BE) 580

4. all the above
DI

Options :
1.v¥1

o oo
3 ® 3
4 % 4

Question Number : 4 Question Id : 1889601204 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The idea of ‘Single Citizenship’ in our Constitution is taken from which
country?
500 0723 s0H0S R RVOAD BN 0" @R eSS TIN o) BFRD) 0B
SNEDB0E?
1. Britain
EAIAIN
2. Germany
2305200
3. Japan
ATOAN
4.United States
ASNTBIE V)
Options :
1. v 1
o ® 2
T ®



Question Number : 5 Question Id : 1889601205 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The First Constitutional Amendment was made in the year
0693 T30 DeIBED o) 0SBSOS 2OA0E?

1.1950

2.1951

3.1952

4.1955

Options :
1. %1
2 VD
3 % 3
4 % 4

Question Number : 6 Question Id : 1889601206 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which country awards the Nobel Prize?
SZBO 250D HEY B0 o) BFE TOOIE?

1. Ireland
0005
2. Sweden
VLB
3. England
QOMTO&R
4. America
@003
Options :
1. %1
o vz
3 %3
4 % 4

Question Number : 7 Question Id : 1889601207 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Which metal is commonly used for making an electromagnet?
DBE ST EN) ST DADEIE &) S 638 CodTAN0?

1. Copper
o°f
2. Cobalt
3. lron
2000
4. Nickel
DTO
Options :
1. %1
o %oz
3. ¥ 3
4. % 4

Question Number : 8 Question Id : 1889601208 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following was not one of the ruling dynasties of South India
in the Sangam Age?
DOKO $50 & 58 €9 27 BSHTI0 W), s U730 S (806 ¢3S DO
gen?
1. Chola
2. Chera
e
3. Pandya
oJPOCa
4. Pallava
D
Options :
1. %1
2 %z
3 %3
4 ¥ 4

Question Number : 9 Question Id : 1889601209 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Who was the founder of the Sena dynasty?
VS TR0 TDZVC DI?

1. Ballal Sena

23°)
2. Hemanta Sen
200 VR
3. Lakshman Sen
8260 VD
4. Vijay Sen
DB VDR
Options :
1. %1
2 W2
3 % 3
4. # 4

Question Number : 10 Question Id : 1889601210 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Who was the first foreigner, who invaded India?
23°55TF0 A TP T TNERNEIE3 DTTFOINED )6I5?
1. Derious
BOOHD
2. Sikandar
0800
3. Selyucus
VENEERQ
4. Philip
DD
Options :
1.1
o %D
3. % 3
4 % 4

~ ie - = - o~ ’ - “nnn-rneamaa o~ ie .~ nwNA~ o~ e ~ noue



The ratio of the width of our National flag to its length is

3065 22305 BO TBNEY, TEEN ) FEHeH)e TNEY) AN

1.3
2,23

3.2:4
4.3:4

Options :
1. %1
o WD
3 %3
4 % 4

Question Number : 12 Question Id : 1889601212 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following is not a mosquito borne disease?
BOO ¢3S DO B0 30 EOT o786 5°¢N?
1. Dengue fever
3001°¢ 23 855
2. Malaria
NSOO®

3. Sleeping sickness
N{apslalsivinTale
4. Filariasis
SCHseen
Options :
1. %1
o R oo
3.¢3
4 % 4

Question Number : 13 Question Id : 1889601213 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The Indian Institute of Science is situated at
“QOBONS AN EITLES 63D VR &8 (P00 &OO
1. Bombay
ARG
2. Bangalore
230MHS°O
3. Ahmedabad

DPOITOCAL R
4. Hyderabad
g aioiays
Options :
1. %1
e e
3 ® 3
4 % 4

Question Number : 14 Question Id : 1889601214 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which Indian state has the largest number of cotton textile mills?

230055 TP O €965 ¢HE DO EET SIeN SVENEN DE)CH Erar>) ON?
1. MadhyaPradesh
DEYDTT
2. Maharashtra
SO
3. Gujarat
230 ed
4. West Bengal
D)o 30T
Options :
1. %1
2 ¥z
z %3
4 % 4

Onestion Numbher : 15 Onestion Td : 1880601215 Omnestion Tvne : MCO Ontion Shnffline : No Disnlav Onestion Number : Yes
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Who was the first President of the U.S.A.?
AT TIE QRE ) 8D IO TBNEY BEIEI €980 DsIH?
1. GeorgeWashington
2320 ° 0L
2. Robert Walpole
o 5°SHO
3. Henry Waterloo

Q) G
4. George Bush
2320 20
Options :
1.v1
o ® 2
3 % 3
4 % 4

Question Number : 16 Question Id : 1889601216 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The National Game of India is
230565 23°e30%) (8¢ DE?
1. Cricket
S

2. Foot ball
DE 2O
3. Tennis
AR
4. Hockey
558
Options :
1. %1
o %D
3. ¥ 3
4. ¥ 4

Nnoctinn Nlimmhar ¢« 17 Nnactinn Td « 1RLRAANTITT NMnactinn Tyvna « MO'N Nintian Chnfflina « Nla Nicnlav Mnactinn Nliinmhar « Vac
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Who said ‘Man is a political animal’?
SN 2.8 078D 230569 €9 DI ) K?
1. Socrates

P53
2. Plato
e
3. Dante
@OV
4. Aristotle
0P 3O
Options :
1. %1
2 % 2
3 ¥ 3
4. ¥ 4

Question Number : 18 Question Id : 1889601218 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In which of the following cities Elephant festival is celebrated annually?
BOE & HHTPOE’ DM DO (DO DOE IVSIS) (D3
20BN 0EFH?
1. Jaipur
23970
2. Jodhpur
ARV
3. Kota
§ey
4. Ajmer
230

Options :
1.v1

o ® oo
3 ® 3
4. # 4

11



Correct Marks : 1 Wrong Marks : 0
Father’s age is five times his son’s age. Four years back father was 9

times older than his son. Find their present ages.

50| 630NN €58 FeITHA 6IANK) OB 0¢D BEY DFVY6I. TN
D035 )T 18650 50| B €55 S OB A BEY QTR 5370 (D eH
AN YO EFTS0G%.
1. 30yrs,byrs
30 Q0NEH TN, 6 DONES YT e
2.25 yrs, 5yrs
25 D035 HYT"EN, 5 Q0D YT N

3. 40 yrs,8yrs
40 D0NEBNT W, 8 Q0BT N
4. 45 yrs,7yrs
45 0SS TN, 7 Q0D YT e
Options :
1. %1
2 ® 2
2. ¢¥3
4. # 4

Question Number : 20 Question Id : 1889601220 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
If in a certain code "RANGE" is coded as 12345 and "RANDOM" is coded as
123678, then the code for the word "MANGO" would be
2,8 DO 5 "RANGE" 12345 T* &G TOH2>B, "RANDOM" 123678 7 §°&
DODDR0A). €95)ICD "MANGO" 93 HA0 50 o) §& 0en06?
1. 82357
2. 84563
3. 82346
4, 82543

Options :
1. %1
2 %
3 % 3
4 ¥ 4

Question Number : 21 Question Id : 1889601221 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

12



2,3,5,7,11, _ (series of prime numbers)
2; 8. 5,001 v (L D100 IOERE (41D S’ 5S3°¢h QODE)
115
2.9
3.13
4.12

Options :
1. %1
2 %
3. ¥ 3
4. # 4

Question Number : 22 Question Id : 1889601222 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

a2 108 L850 v z = 26 what is the value of p+qg+r?
a=1b=2,=8.... 2=26 900D P+ +TDeND De3?
1.33
2.51
3.52
4.48

Options :
1. %1
e g
3 % 3
4. # 4

Question Number : 23 Question Id : 1889601223 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The sum of three consecutive numbers is 132. Find the square of the

largest number.
BT s305°CE) HOPES DOWE [BESO 132. DL DO ABNEY HT°) EHFI0E.
1.2026
2. 640
3.900
4.2025

13



o oo
3 ® 3
4 9 4

Question Number : 24 Question Id : 1889601224 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A is 8 miles east of B.C is 10 miles north ofB.

D is 13 miles east of C and E is 2 miles north of D. Find

the shortest distance between A and E.

A B 8 cardd)Is 8 ¥ (B0 &S &) 6. C,B § 10 ¥ rdo &
ST &)O. D, C & %) 13 ¥ S0 & 516 DO E,D &
ST 2 DY) S0 SO, ©ONB A SHOOIN E S0GES ) €oed
55060 T OO0,

1.5 miles
5 DY
2.6 miles
6 NS0Y
3.13 miles
13 DY
4.18 miles
18 VY

Options :
1. % 1
o %D
3. v 3
4 % 4

Question Number : 25 Question Id : 1889601225 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is twenty percent of 25 % of 20.

20 S 25 T30 S’ AGH F°H0 WOTY DOES?
1.2

2.1
3.9
4.4

14



o WD
3 ® 3
4 % 4

Question Number : 26 Question Id : 1889601226 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

How is my mother's sister's brother's wife's child related to me?

° ¢5C) FCHO PN 2308 ¢ TBNE) DG D 50 €583 250ENES L0 Dade3?

1. brother
INTRTOVRY
2. uncle
6300
3. cousin
Ale]AVES)
4. Nephew
AN
Options :
1. %1
o R oo
2. ¥ 3
4 % 4

Question Number : 27 Question Id : 1889601227 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The Prime Meridian is near
165530 BP0 &3 SHTRE SHEES 6H0Enod

1. Paris
PO

2. London
O

3. Newyork
Nu{evayl

4. Canada

15



Options :
1. %1
o vz
3 %3
4 % 4

Question Number : 28 Question Id : 1889601228 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The amount of water vapour in the air is called
O eI @30 HOSATET) WET @OEFED
1. Humidity
3| Ot
2. Density
PO Lo¢d
3. Moisture
S0
4. Rain
Nelo
Options :
1.v¥1
2 ® 3
3 % 3
4 % 4

Question Number : 29 Question Id : 1889601229 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

16



Global warming occurs due to increase in
20 DEEB0 B0 T2 3000 HOZIDNOE
1. Chlorofluorocarbons
ST 98 55
2. Carbondioxide
STH HEN PO
3. Nitrogen
S(ES2S

4. Helium
RRDIOWN]e

Options :
1. %1
e
3 %3
4 % 4

Question Number : 30 Question Id : 1889601230 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Petroleum is also called:
RSO 057, A S DEND:

1. Liquid gold

1839 B0 &) 220PS0
2. Black gold

A OMAO
3. black diamond

DD H[B0

4. white gold
S0 20O
Options :
1. %1
2 WD
3. ® 3
17



FPart B: Current Affairs

Section Id : 18896030
Section Number : 2
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 30
Number of Questions to be attempted: 30
Section Marks: 30
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 18896030
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 1889601231 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

India’s First District cooling system will come up in:
2rBHTIF0 SR 0L I 2867 FHOIESE 69§D &) TR0 (o34
DEDSOO?
1. Nagaland
RARDROIE]

2. Amaravati
€950 €3

3. Shilling
aOoh

4. Bangalore

230(M$0°0

Options :
1.%1
2 W2
3% 3
4 % 4

Question Number : 32 Question Id : 1889601232 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

18



The Chief Justice of India Ranjan Gogoi and Andhra Pradesh Chief

Minister N. Chandrababu Naidu inaugurated the judicial complex

in

273565 | DS DELOITOINES B023S T 0N DO 803D TS
D03 N. LHO(EI2T°20) TPOINCR) DPON PO ) D8 Ch
BPS02)0TFD.

1. Amaravati
€950T"Ned

2. Tirupathi
30D e

3. Anantapur
905D

4. Kadapa
S{ocPe

Options :
1.v1

o ® oo
3 ® 3
4. # 4

Question Number : 33 Question Id : 1889601233 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

19



Which council has decided to set up a seven-member committee to look

into revenue shortfall being faced by the states after the GST roll-out, and

to suggest steps for augmenting collections?

GST @950 581a7°ed T°| ol e DT 08NS, P00 585D
DOIDOBETRE DEHHB H2HE E2E3D DTN TOITOQ sHOCHN HADY O
ESEE DOD) FH0 9850 ST IO & TS ABoN0D0E?
1. GST Council
GST §°0)O

2. council for leather exports
e DNNEBO §5H0 TAND

3. plastics exports promotion council
D5 DMDAEN (DT T70)O
4. finance commission

DT’ Soad

Options :
1.v¥1

o oo
3 ® 3
4 % 4

Question Number : 34 Question Id : 1889601234 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which State has topped the Ease of Doing Business ranking by Asia
Competitiveness Institute?
DACI® EONEIEI TR AT (DSB0 S5 @9 Aranon 22T
0°c080% &) TR0 NTSOS G E ?
1. TamilNadu
5o T CD
2. Telangana
SCOOMTED
3. Andhra Pradesh
Zlellaltsint]
4. Kerala
SO

20



1. %1

2 %z

3.¥ 3

4 % 4

Question Number : 35 Question Id : 1889601235 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Under which project, a dam is constructed across the Godavari River in
West Godavari District and East Godavari District of AndhraPradesh?
& (B4 8005, EO(NTF Q) DB IO 237 DO ¢hytd YT crssd
2676S 03790 IR OB DOL0T BOE?
1. Tehri Damproject
B> @50 (BT
2. Bakranangal Damproject
23500 G50 (PBED
3. Polavaram Multipurposeproject
SFIB0 VTP (BS
4. Hirakud Damproject
PSR B0 (B

Options :
1. %1
o %2
3. v 3
4 % 4

Question Number : 36 Question Id : 1889601236 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

21



The ‘Mahila Police Volunteer’ was initiated by which ministry
in collaboration with the Ministry of Home Affairs?
TR0 600366 £F°W DEFSBOS o) sNO(E3¢H ¢ F°Y C° SO° “sNFF PO
03D “ BPE0)0IDGOE?
1. Ministry of Women and Child Development
ST FE SOOI DD €92)53x @ sDO(e365 § T
2. Ministry of Rural Development
[(TPaDETESIHD F°D
3. ministry of Defence
58 €9 D035 § T

4. Ministry of Urban Development
€93 TIC 3208 DO e3¢5 ¢

Options :
1.1

> ® oo
z %3
4 % 4

Question Number : 37 Question Id : 1889601237 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Andhra Pradesh Government has launched Bhuseva and Bhudaar web
portal for:
O[S (DT3B (D265 L0 2563, 2D B2 FPen) DOSBE
3020 0:
1. viewing land records online
ST 2D OSTDER D8 0TIB0
2. online land registration
S8 BS eri0& 03 RAD
3. filing online petitions
SBIQ D3RP DO DO
4. filing RTI online
SIS 300N DO DJP0O

Options :
1.v1
2 ® 2
22



4 % 4

Question Number : 38 Question Id : 1889601238 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which policy did the Cabinet approve to achieve a turn over of Rs. 26 lakh
crores for design and manufacturing sector by 20257
e TE ) IR TP s0° rOE e8TrON0 26 ©F. ) SEFIMTD 2025 & D055 B0 ¢
050 $010 & EFHED Y TDOHDBOE?
1. National Electronics Policy2012
TASO DO TI5 ) arerd), 2012
2. National Electronics Policy2013
2O DO TS Y e 2013
3. National Electronics Policy2018
TASDO DOTAT Y arer2018
4. National Electronics Policy2019
TASO DO TR ) erIN2019
Options :
1. %1
2 ® 3
3 %3
4. ¥ 4

Question Number : 39 Question Id : 1889601239 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The first set of four vessels made at Cochin Shipyard Limited (CSL) under the
deepsea fishing project was launched in State.
S'BS DM DO HEYEI §H0 FDS D A5rd AT (CSL) 5
ErSP OO0 (DETDET J0CIE3 T £,¢56> HTI*0 oo RO
B0 0HDGBOA.
1. Kerala
3G
2. Maharashtra
030" o)
3. West Bengal
D)o ZI0TFO

4. TamilNadu
5T CD
Options :
1. %1
o %D

23



4 v 4

Question Number : 40 Question Id : 1889601240 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Supreme Court the National Green Tribunal (NGT) decision to
reopen the Sterlite copper plant at Thoothukudi.
ATEDEEA 5O VBE 0°h 07T, HREFS0D0TIERE 237309 1S
€325 (DDEI) B3NFS), APANO & DS &P .
1. Approved
LISV ATeTAOIA)
2. set aside
1083 DEOH
3. upheld
LinlelelAleln
4. overruled
oJAVER T TeTA)

Options :
1. % 1
e
3 %3
4 % 4

Question Number : 41 Question Id : 1889601241 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The 2019 Cricket World Cup (officially ICC Cricket World Cup 2019) is the
12th edition of the Cricket World Cup. It is scheduled to be hosted by
2019 (83 (D00 § (9OSAEOM ICC (8T (2900 §2 2019) 12 o5 DG J0
o) T3FO BE3CH50 QS S S0E.
1. England and Wales
QOTO& DO DO
2. South Africa
58 e D5°
3. Bangladesh
203
4. Australia and New Zealand
3| VO DO S22 08
Options :
1.v¥1

o oo
24



4 % 4

Question Number : 42 Question Id : 1889601242 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Indian Qil Corporation (I0C) signed a deal worth with US to
import 3 million tonnes of crude oil.
ROGGHS SO 58 YBAS (02,0) e9005° 3 DEOODE D) SV
£330 DA AN TDFODOCHE OS50 2,0)00
SMaVeVRSMelat
1. $1 billion
$1DOADN
2. 51.5 billion
$1.520DHA
3. S2 billion
$2 DO
4. S2.5 billion
$2.52)aHD

Options :
1. % 1
o VD
3 %3
4 ¥ 4

Question Number : 43 Question Id : 1889601243 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Argentina is the country to sign the Framework Agreement of the
ISA.
003", ISA TBDEY SSORTONE® 2501050 HOBEO W D3).6d BFO?
1. 50"
503
2. 63°
63 5

: W 5 i
72 55

4. 85"
85 35

Options :
1. %1
=
25



4 % 4

Question Number : 44 Question Id : 1889601244 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which Country signed the Framework Agreement of the International Solar
Alliance with India?

2> SEHBF0S ROV AID Ferd 0OONS Y BBNE) o0 0 e9|AD0EN)
2 B0 DOHEO TBOOD?

1. Sweden
DSBS
2. German
2305200
3. Poland
Dfera6
4. Argentina
9003
Options :
1. %1
o %2
3 % 3
4. v 4

Question Number : 45 Question Id : 1889601245 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which Global cyber security company launched Email Fraud Protection, an
automated solution, to block fraudulent emails from reaching enterprises?
2 122 220 ET:03 E0Q) OF) ITOSITOH D DO OG ST B
OONF )N ATGOTNEIE 2-DONO |76 (FIES, 2.8 S TG
PEXPIAR & (2S00 0DO.
1. Symantec

SISO OTAL]
2. Raytheon
BHOIT®
3. IBM security
IBM 25| C5¢%
4. Herjavec group
0 R8 ReAI0
Options :
1w

26



3 %3
4. # 4

Question Number : 46 Question Id : 1889601246 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Emergency Response Support System (ERSS) is a pan-India single number
________based response system for persons especially women in distress.

oi)‘ﬂofﬁi)g BPIR) DD N0 (R.e35.90.0D.) RO (DBEOT 2SS
&) ROH aPS-R0B0® 2008 05 S50 DNOD DD
(e o6y,

1. 102

2. 112

3.114

4,101

Options :
1. %1
o WD
3 %3
4 % 4

Question Number : 47 Question Id : 1889601247 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

————— is designated as women'’s training Ambassador of PUMA
PUMA G330 &); S0 98 £9 T°002r O QO OTIDTZ D
1. Mary Kom
D8
2. Anil Kapoor
QO &0
3. Suresh Sharma
00 4052
4. Vikram Singh
S WOhH

Options :
1.v1
o %D
3 %3
4 % 4
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Which state government has announced a universal old age pension
scheme - Mukhyamantri Vridhajan Pension Yojna (MVPY)?
o) T° 3 (D205 50 3N ED SSDW SN0 DD DR BT (MVPY) DT
1083000 &?
1. Tamil Nadu
5% 0"
2. Maharastra
03P 0° o)
3. Bihar
ATARS
4, Punjab
Do
Options :
1. %1
o %2
3 %3
4 ¥ 4

Question Number : 49 Question Id : 1889601249 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The Central Board of Indirect Taxes and Customs (CBIC) appointed
and Ashok Kumar Pandey as its members
CBIC 655 02NN BODID D @3°5 5955570 P0TBR D000
1. Sandeep Mohan Bhatnagar
DO BTN e3°¢8) (10
2. Suresh kumar
00ox 063070
3. Nitish Kumar
Q3R H0555°0
4. Kappor Singh
YO voh

Options :
1.v1

o ® oo
o ® 3
4 % 4

Question Number : 50 Question Id : 1889601250 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Rabindranath Tagore Award for Cultural Harmony is awarded by the------
TPOD)HBE NG5S SO0 B0 TID YBT)ES 1HDTTPS0 I
DB0?
1. Prime Minister
(DTS DO
2. Home Minister
0 DO €3
3. President
LICISEVCR
4. Finance Minister
0% sHo|ed
Options :
1. %1
o %
z vz
4 % 4

Question Number : 51 Question Id : 1889601251 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

---- NGO Yuwa won Laureus Sports for Good Honour
D TR0 S A5 95223 NGO e»dOHD 30 DB Good Honour
0 TENTHEOO ?

1. Jharkhand

2005
2. TamilNadu
5o °CD
3. Kerala
159
4. Karnataka
S{OM AT
Options :
1.v1
2 %2
3 %3
4 ¥ 4

Question Number : 52 Question Id : 1889601252 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Became the First woman to climb Kerala's Agasthyarkoodam peak.
B 910557650 FD S0 9T O BNEIES s0aTF oI, ?
1. Sudha Chandra
QG TIOIES
2. B.K. SriVidhya
B.K. BDCS
3. Dhanya Sanal
35 DO
4. Junko Tabej
208 &5

Options :
1. % 1
o %D
3. ¥ 3
4 % 4

Question Number : 53 Question Id : 1889601253 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

West Indies batsman Chris Gayle announced retirement from ODI cricket
after ICC World Cup 2019. He made his debut against in 1999.
ICC 1DH0TS D 2019 507 ¢¢b DR ROGBD 23758120 (82 TS oDI (ESE o

BTIT0E (DEE30TCR. 305 &5 5 BOEIBNCEIES 835575 &5 1999 ¢S &8 T3FO &
e3C3°C)

1. India
2> STEO
2. Australia
eS| OO
3. South Africa
8 e 5"
4. NewZealand
Aorgeserold
Options :
1.9 1
o R
3 %3
4. # 4

Question Number : 54 Question Id : 1889601254 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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According to the government survey, around crore Indians in the age
group of 10-75 are consumers of alcohol.
325065 8 OB (DF°B0, 10-75 DFY 65000 §%¢3 5906 27Se3TneN 60350
IO DABIANTD.
1.22
2.18
3.20
4.16
Options :
1. %1
2 %3
3 %3
4 ¥ 4

Question Number : 55 Question Id : 1889601255 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Argentine President, who was on a three-day visit to India from February
17 to 19 February 2019.
&) ©B0E3T° eI §EIC, D2IIO 17 DO 19 DO HBEY e BSTFo%
S57°¢80 B2 HEEEISS e wm) 0.2
1. SebastianPifiera
VRO DX 0"
2. Mauricio Macri
SENT° B(8
3. Jair Bolsonaro
25 5T
4. ProkopisPavlopoulos
DR oFa) DR
Options :
1. %1
2. ¥z
3 %3
4. % 4

Question Number : 56 Question Id : 1889601256 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Who won the 2019 Australian Open Men’s Singles final?
2019 €3] RQOONA 2D BN DOAD J DI DI TeNTHEHR™) K0?
1. Roger Federer
5230 DGO
2. Rafael Nadal
O O °O
3. Novak Djokovic

S8 S8
4. Andy Murray
€306 50|
Options :
1. %1
2 ® 2
3.¢3
4 % 4

Question Number : 57 Question Id : 1889601257 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Reserve Bank of India recently approved additional interim dividend

payment of Rs. crores to the government.
1D2DE (8 B ........ 50 @3 &) O ANBOE TOOHOI O30 ¢
23508 9¢35€3 SO0

1.26,000

2.22,000
3.28,000
4.24,000

Options :
1. %1
o %D
3 v 3
4 % 4

Question Number : 58 Question Id : 1889601258 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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———————— awards are conferred on Uday Deshpande and Smriti Mandhana?
€500 D)0 DDA (D263 SDOAN D B8 e (DTH0
RONDTON?
1. Shiv Chhatrapati awards
B 5D DB TEN
2. UNESCO Peace Prize
OV, 3203 25TV
3. Pulitzer Prize
DD [eF
4. Livelihood Award
SATVE @50
Options :
1.v¥1
2 %3
3 %3
4 ¥ 4

Question Number : 59 Question Id : 1889601259 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Who clinched the Senior National Badminton Championship for the fourth
time?
TS PO DAOGHND BRSO 2325308 S TFODONS 1D Q DB B30
DB ?
1. Saina Nehwal
VD° DO
2. PV Sindhu
® 2 VOGD
3. Jwala Gutta
& feyiher
4. Ashwini Ponnappa
€99 £ ST )
Options :
1.v1
2 ® 3
3 %3
4 % 4

Question Number : 60 Question Id : 1889601260 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
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Which country recently rejected an appeal by US Vice President Mike Pence
to withdraw from the 2015 Iran nuclear deal?

QU LN 2,00 NOD) GODOTOONT TR BRNOF BN (DVTOE
8 DR TOS DR 0¢335 BEDLO00S TFO DE?

1. Russia
OoX§
]
2. Germany
230520
3. France
@°®.)
4. China
L°
Options :
1.%1
= v
3. % 3
4 % 4
Fart C: Aptitude for study of Law
Section Id : 18896031
Section Number : 3
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 60
Number of Questions to be attempted: 60
Section Marks: 60
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 18896031
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 1889601261 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Which of the following is not required of a candidate for the post of
President ofIndia?
2> BSTE DVTOE DADE 925508 DO 95550 SH?
1. A citizen of India
255 E DD
2. Should be of 35 years of age or above
35 006365 YT B @O0SE0T) DEY) SO 0T )
3. Should be qualified to become a member of the LokSabha
32565 DDA G0ErdE eodeh &od)
4. Should have a minimum of Bachelors degree or equivalent
gD 2 s BN B DATIDS SOEe)

Options :
1. %1
o %D
3 %3
4 v 4

Question Number : 62 Question Id : 1889601262 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Indian Parliament is based on the principle of
2°3565 PO DO0EN S8 (0 D BTBNE GOO
1. Bicameralism
AEGARSIa N
2. Universal adult franchise
OIS IO SBZTBS (P02
3. Dyarchy
€5 5005 § (02065 50
4. Federalism
DB SB0

Options :
1.91
2 %
3 % 3
4. # 4

M4 NTL L .Y M 42 XA . 100NN IACY a4t T O NALNON a4 OO L NT WG W w4 NTo L .. X7

35



When the master is held liable for the wrongful act of his servant, the
liability is called
ONZBITR) €55 IV TINEY €55 )30 23°¢565 IO I, €3
2 565 e 90 EFN?
1. Strict liability

EHAR 23O 5ed
2. Vicarious liability
(0E°5a3°) A 2P §ed
3. Tortious liability
ESOODM 23°¢ g¢b
4. Absolute liability
DOY"Q e3¢5
Options :
1. %1
o o
3 % 3
4 % 4

Question Number : 64 Question Id : 1889601264 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The act of unlawfully entering into another person’sproperty
SOTE 6558 €3 &5 DD O (H3FOT eI
1. Trespass

&350
2. Restraint
QONOR
3. Appropriation
(&) DADAND
4. Encroachment
315069
Options :
1.v1
2 ® 2
3 ¥ 3

4 % 4
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Correct Marks : 1 Wrong Marks : 0

What is the meaning of “Caveat Emptor”?

"BRONE DOTD " (Caveat Emptor) B3nE) @980 deE3?
1. Awarning

) )08
2. Buyer Beware
SN 237 19¢h
3. Writ
BE
4. Seller Beware
(B 231
Options :
1. %1
2. 2
3 ¥ 3
4 % 4

Question Number : 66 Question Id : 1889601266 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Fiduciary relationship means a relationship based on
D% LAAOH D000 OB 2.8 HODOTR), ATFDNOS
1. Trust

QAo 80
2. Money
Ca2n)
3. Contract
200 )00
4. Blood relation
38 Ho2080

Options :
1.¥1
o %oz
3 %3
4. % 4
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Correct Marks : 1 Wrong Marks : 0

Generally, when a person is prosecuted for criminal offence the burden
of proof is on the

PPG0T, 208 6358 (BDIO DTAE ) YD) )EH K2y W 23S0
DI DS ) O?

1. Accused
VB0 STDHODS PO
2.Prosecution
(BPRETEAR
3.Police

SO 0 Mch

4.Complainant
D500 TS 6 S

Options :
1. %1
2 VD
3 % 3
4 % 4

Question Number : 68 Question Id : 1889601268 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Participant in commission of crime is popularly known as

D30 TN FES'T O &8 DO De
1.Respondent

©¢he> 8 37
2.Under trial

DTG DY 0LNR) K
3.Defendant

(D30
4.Accomplice

SCRDESON

Options :
1. %1
o %D
3 %3
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Question Number : 69 Question Id : 1889601269 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Where is the National Judicial Academy located
BASD 22 sBAONSO 95T DE)Ch OD?

1.Kolkatta
§oHde
2.Bhopal
SO
3.Delhi
6O
4. Mumbai
o023

Options :

1. %1

2 WD

3 %3

4 % 4

Question Number : 70 Question Id : 1889601270 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is not included in the preamble of
the Constitution?
0723000 T3NEY DN B 80 73S DO BB IV EN?
1. Morality
Ded¥eh
2. Justice
O°LONO
3. Sovereigr
RO RTARINY
4. Socialist
%o §03°C

Options :
1.v¥1
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3 %3
4. # 4

Question Number : 71 Question Id : 1889601271 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

When goods are displayed in a shop with a price tag, it is
2,5 COTEIO 2,8 8906 TZNEY BB HEES (D00, €8 636069

1. An offer
eS80

2. An invitation to offer
2,8 e300 80 e833°550

3. A counter offer

5080 e300
4. None of these
¢3S D 5559
Options :
1. % 1
oD
3 %3
4 % 4

Question Number : 72 Question Id : 1889601272 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
‘Volenti non fit injuria’ refers to:

'S S0 TR DED 002700 (Volenti non fit injuria) DR QrDNOE:

1. A defence in an action for torts
DS ST E5S 2.8 B8

2. A ground for initiation of action for torts
VDO HDIDE HHEOEL 2.8 G0

3. Not a defence in an action for torts
RO DI IG5 2.8 B8 0 ¢
4. Both (1) and (3)
DO (1) HOA (3)

Options :
1.¥1
2 %
3 % 3

PR
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Question Number : 73 Question Id : 1889601273 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Development of law of torts has taken place through
0 D0 ©9DIHE B 50" 20000

1.Custom
SO0

2.Judicial Decisions
P00 APATTEN)

3.Enactments
TR D

4.All the Above
DO Q)

Options :
1. % 1
o VD
3 %3
4 ¥ 4

Question Number : 74 Question Id : 1889601274 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following is a part of Indian Constitution?
De3ES” DE G eh Trezr0NoS e0esS 23i0?
1.Single citizenship
20O DS 50
2.Multiple citizenship
200 PO S0
3.Dual citizenship
&3 808 § B0 L0
4.Domicile citizenship for State and natural citizenship for union
Domicile 3 806350 T°|alA8 BN HDaTres PO 50 DF°VE
Options :
1.¥1
2 ® 3
3 %3
4 % 4

Question Number : 75 Question Id : 1889601275 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Sinole T.ine Onection Ontion * Na OIntian Orientation * Vertical
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Principle: Willful rash driving is an offense. Facts: Mr. Tiwari was driving

his car after drinking alcohol. Police books him for willful negligent
driving. Is the act of the police lawful?

QD0ES: DI SEOMT BHOTP %S0 SN0 JHEO. 3°IEN: Mr.

B0 50 BNEQ €539 SN AT (0. IS SEOrT
DBE 559 (BAON @ O H T SRTCD T, FOR a0 98
P L0025 50 °?

1.No, because Mr. Tiwari was not driving rashly; he was drunk
while driving.
BN, DOCHEOT ND B TS0 SENER ) ) (=0
E5a°) €0, 5°Q) O %P0 SN ED.

2.No, this is not a negligent act.

5°¢0, /O VS 0 5°¢.

3.Yes, because Mr. Tiwari was driving rashly.

€953, VD B3O DO TS0 SBTN.

4 .Yes, because the police has the power to arrest a person
driving rashly.
€959, CRDNTE, AIPEOCTT T7eFI0 HEVS T W OSSO
SFODOZ GO

Options :
1.91
o R
3 % 3
4. # 4

Question Number : 76 Question Id : 1889601276 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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Principle: Mere silence as to the facts likely to affect the willingness of a
person to enter into a contract is not a fraud, unless the circumstances of
the case are such that, on close examination it is found to be the duty of
the person keeping silent to speak, or unless his silence is, in itself,
equivalent to speech.

Facts: X sells by auction to Y, a horse which X knows to be ofunsound
state of mind. X says nothing to Y about the horse’s unsound state of
mind. Give the correct answer-

RFP0SAM : 2.8 BF DOV (DB 2,8 558 8 SrEFCHIOVS 23°¢Ised
€5, S8 @65 DFID0 A 2.8 o7 1§ DOHEF0T SOV €598
50,8 5955 WNEY D¥)D0 DT 558 WNE) APATQ) 1027°NEHO
DM 098 70 (8ol Tred.

SPRTeN: X § 2.8 (50 DDIGA BN e &8 A0 THYH0E® 2,8
300 S Y § 95508 (0O 73S DT DTS00 @06
1.X can be held liable for fraud

X B8 2r¢i5ed 500w ) GO0

2.X can be held liable for misrepresentation
X 653070 HEI0DS0CDE 2376356 50T ) EBOENOH

3.X cannot be held liable, because he did not say anything positive
about the mental state of the horse
X ar22e38 1T WIS 5722¢3 9658 Denad0e3 2376 5ed SEw.

4.X cannot be held liable because it is the buyer who must be aware of the
things
§0PENEPH TN BENVTR) Tr® 5723E3, X 8 DENS0ES 25°¢H5ed BED.

Options :
1. %1
o %D
=¥z
4 % 4

Question Number : 77 Question Id : 1889601277 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Principle: Only Parliament or State Legislatures have the authority to enact
laws on their own. No law made by the State can take away a person’s
fundamental right.

Facts: Parliament enacted a law, which according to a group of lawyers 1s
violating the fundamental rights of traders. A group of lawyers file a writ
petition challenging the Constitutional validity of the statute seeking relief
to quash 1t and further direct Parliament to enact a new law.
AP0: SO0 PTN0LY B O°la) ) AWBSHND 9O %
ST 0 B OG0 GOD. o W0 BadN)E3E, 58 TBwg),
[EPCNE $80) 0 S0HTCD.
TPRSTEN: PTDOLY 28 HEFD) D0 ) FOHD0E LN
ID5B0 @98 STF00 [GPANE FHEO% Zorko EODN0H. &8 HOHHe
D0 2.8 B8  DEBAS o0 @ OO TBE) TR 205D
DL, A TEIATOR DO FTD0END § H0 TATO
STFOOD Qo d.
1. No writ would lie against Parliament, as the court has no authority to
direct Parliament to enact or re-enact a law
D SONTDOE BE & S0° alTD0ENE 28 THEF) TBATFOR S
SOH DOTOR) STIOT OG0 BED &g es 88 DE3 DS TOX.
2. The courtcan quash existing law if it violates fundamental rights

and can direct Parliament to make a new law

[EPGNE FPELE GO0V, 5 20T &), HEF),

SCY WONITN,) NOCM §¢B 50 DATOR P 00EN SDFOTI

T )

3. The court can quash the existing law if it violates fundamental

rights but cannot direct Parliament to make a new law

[EPGENE P50 EGO0MODIONS, 5 90 )E338 dad), HEF),

BED TASITN) 57 55 IO TOITFOQ " TeDOLNN ST IO

@R
4. None of the above
0 DT 5D
Options :
1. %1
o %oz
3. ¥ 3
4. % 4

Question Number : 78 Question Id : 1889601278 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Which of the following Constitutions is unitary?
B0 T°23750K50 DO D8EYBDOH?

1. US
e9NOZ HOASWE o°lalen
2. Britain
AN
3. India
2550
4. Australia
3| RO AS®
Options :
1. %1
2. 2
3 ¥ 3
4. % 4

Question Number : 79 Question Id : 1889601279 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Ratio decidendi means
D3 BOBOG (Ratio decidendi) 90
1.a judicial decision
L0500 QYN0
2.part of the judgment which possesses authority
O30 OB &) SIS’ 230
3.any observation made by the court which goes beyond the
requirement of the case
S DD I°5WS, W B BEY 990TE DO
4.an observation made by a judge
P00 TR I°§DS

Options :
1. % 1
o VD
3 %3

PR
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Question Number : 80 Question Id : 1889601280 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following is not true about a criminal proceeding?

BoOTEIS” (B (G0N HOO0D OO B0 5°CH?

1.the court may ask to pay a fine
D SONTI0 23055°0° T 0TI ¢S50 )
2.the court may order transfer of their ownership of the property
0 OIrBSrS0 'R eskNen OO TOITreIR ED e3TR0TISTN )
3.there is prosecution
LI RAEEAQ OO
4.the court may discharge an accused
T°SONT° D0 STHED © DO VeS8 TODSTD)

Options :
1. %1
oD
3 %3
4 % 4

Question Number : 81 Question Id : 1889601281 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In a case between Divya v. Derifa, Divya cannot be a

2,% 30y Divya vs Derifa 69658 2,8 003106, ©658 DO 52

1. Plaintiff
5
2. Appellant
9D NENTT
3. Defendant
(D3
4. Petitioner
DE3AND
Options :
1. %1
2 % 2
3.¢3
4. % 4

Onestion Numbher ¢ 82 Onection Td : 1880601282 Onestion Tvne : MC.O) Ontion Shufflino : Na Disnlav Onection Numbher ¢ Yeg
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Cr.P.C. stands for
Cr.P.C. 935S
1.Criminal Proceedings Code
B (0G0 56
2.Criminal Proceedings Court
B (P0B0M) 80
3.Crime Prevention Code
G ATE &
4.Criminal Procedure Code

BRSO (0230 86

Options :
1. %1
o R
3 % 3
4 ¥ 4

Question Number : 83 Question Id : 1889601283 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Jurimetrics is
237°030(¢38 ) (Jurimetrics) @0T)

1.the use of logic and statistics in the law
S50 €5 683.0 SDOAM HeTO5° FHEO

2.the study of ancient history
8)T°50 THO(€d 9 AN

3.the investigation of criminal cases
8O B Do ded

4.the analysis of legislative proceedings
F°0 DTG TINE), DBNED

Options :
1.v1

o ® oo
o ® 3
4 % 4
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Question Number : 84 Question Id : 1889601284 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A puisne judge of a Highcourt is
2 D% TodS puisne judge eo?

1.a judge other than the Chief justice
LG °5O50e00°0 50 2,8 503000
2.the Chief justice
(OGP D50
3.A temporary judge
&) 50000
4.a retired judge
28 B0 €& °5ON°0

Options :
1.91
o %2
3 %3
4 % 4

Question Number : 85 Question Id : 1889601285 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Moots, in law schools, are
0 S dsdarmr Shen
1.exercises of law teaching
505 arEs0F° S 230
2. legal problems in the form of imaginary cases, argued by two
opposing students before a bench pretending to be a real court
€6250°¢%28 0505 DeNEED AR DAY DD LENTT 2TD0W) 2,8 D23
S SN0CH TOND) LY OO0
3.imaginary class room where a student acts as a teacher
D50 5ol SO HSHS HAS ERerotNETR) TDH)EO
4.a debate on a legal problem
(RTATA TS IRV INVE e R To Iy
Options :
1. %1
2. ¥z
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Question Number : 86 Question Id : 1889601286 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Scheduled Tribe status is
06O | B (Scheduled Tribe) 20"
1.restricted to Hindus
PO LN DONESO
2.religiously neutral
oNEBIG D SEdQD
3.restricted to Hindus and Christians
0°0CN YN sNO AN [ BVHE DO
4.restricted to Hindus and Muslims
0N HN DO SNVOEF HOESO

Options :
1. %1
e
3 %3
4 % 4

Question Number : 87 Question Id : 1889601287 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following has not been a woman judge of the supreme

court of India, till 20097
200055 D035 IB0 SBE SBEO N[0 FEL DT D° DT O
Do S?
1. Justice Gyan Sudha Mishra
230 TR G D\ F®
2. Justice Sujata Manohar
200 23°¢5 NS IO
3. Justice RumaPal
2300 IO
4. Justice Fathima Beevi

2309 TS 2
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1.91
o %2
3 %3
4 % 4

Question Number : 88 Question Id : 1889601288 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

What is the meaning of Perjury?
DO 90T 930 Dabed?

1.A kind of forgery
2,8 550 PO
2.Lying on oath
29254 [Da3°E 0
3.Ajury
23750
4.A court

Options :
1. %1
2 VD
3 % 3
4 % 4

Question Number : 89 Question Id : 1889601289 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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The President of India is elected by an electoral college consisting of

25305 THRI (80O 5% EONS 2.8 ' IBESS 5B T 50° D) Forsern?

1. all the members of both the Houses of Parliament and all the
members of all the Legislative Assemblies
@0 FORT0EN O 2050 NEAW ) T
AV SleTalovy
2. all the elective members of both the Houses of Parliament and all
the members of all the Legislative Assemblies
PORV0ED &30 D D) B
NBAW @) TP D20 5O
3. all the members of both the Houses of Parliament and all the elected
members of all the LegislativeAssemblies
YR &2IAD D25 H2Z0EORAET DO @A) BN
B0E) DT DAL  HEHgHORS®
4. all the elected members of both the Houses of Parliament and all
the elected members of all the legislative assemblies
FPOR0EN 23N BN TSNS BOROES TWE) D) FaBS
AV TeTalovs
Options :
1. %1
o ® 2
3 %3
4 9 4

Question Number : 90 Question Id : 1889601290 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
International labour Organization has its headquarters at

'R0V ANO B0 SPIITBAR' (DTN SPOPOAN0 D8R 50 H?
1.The Hague
¢S o°h
2.Geneva
B
3.NewYork
Q0° A0,
4.London
OO
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1. %1
e
3 %3
4 % 4

Question Number : 91 Question Id : 1889601291 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following is not the function of the International Court of

Justice? It

806 ¢35 DO OST RO DPFONTH0 TVEY D 5°CN?

1. gives advisory opinion at the request of General Assembly
238 @902 TBNE), ©25:853 DO 9 EPONO A0

2. gives advisory opinion at the request of Security Council
087:0¢3 TS 92553530 DO 9 ErPAN0 YN0

3.interprets treaties when considering legal disputes brought before
it by nations
T30 Teh 3DFTDAN BEDGS DT HOHeISS 8
SNZEL I 2,0 YO TOR BOHT® BV

4.decides international crimes
0S$T°0H TTPEN DGOV

Options :
1. %1
o R
3 % 3
4 ¥ 4

Question Number : 92 Question Id : 1889601292 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Which of the following is not included within the meaning of
intellectual property?

&3 1806 are36S 3DE HODHE BE) 9F0S T TS YJBE D
1.Patents
PSATS [

2.Copyrights
5% $E0).€0

3.Trade Mark

R& 330

4.Contracts
SHOIIARSR

Options :
1. %1
o R
3 % 3
4 ¥ 4

Question Number : 93 Question Id : 1889601293 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In Joseph Shine v.Union of India decided recently, the Supreme Court

decriminalized the offence of
ST0D R VODTFIODS €89 R0BOT TS @eE356> |00 §°0 Se
P08 B8 BAD TIHOH.
1.Bigamy
DO IO
2.Adultery
Do S D000
3.Rape of wife
2°0 8 Q 2e7er) S0 TONLECO
4.Sexual Harassment
SohE IH0D)

Options :
1. %1
2 V2
- .
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Question Number : 94 Question Id : 1889601294 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which Parliamentary Committee is described as a “Watch-dog’ and
guardian of the people against official negligence ofcorruption?
) O 0D Ee3 0DV, 9HTOE AT 0 SBTEOT (DB "S-
c3*N" OO OGS Focd T SQ0TIDH0E?
1.Committee on Estimates
90T EeS
2.Public Accounts Committee
525 9505 ) §aes
3.Committee on Public Undertaking
DT 23cHee5 3 Eoes
4.Committee on ‘Consolidated fund of India’
23550 BNEY EIOT DG HOS' 2 Ees

Options :
1. % 1
o VD
3 %3
4 ¥ 4

Question Number : 95 Question Id : 1889601295 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Result of successful prosecution is
D2300D00HS criminal o ded HESHD
1.Acquittal
DB AT DS

2.Discharge
VB0 S0E DS
3.Conviction
QEDED
4. charge sheeting
Charge 16X TA0Ed

Options :
1. %1
2 ® 3
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4 % 4

Question Number : 96 Question Id : 1889601296 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Who among the following was the first Chief Information

Commissioner of India?
2357355 DNEIES 30§ D3PS EDAND 2aI5?
1. Wajahat Habibullah
PR3 ST 2NC
2.1rfan Habib
QUSRS
3. Tahir Mahmood
€555°0 oD
4.Najma Heptullah

d23°) T)L”
Options :
1.¥1
2 %
3 % 3
4 % 4

Question Number : 97 Question Id : 1889601297 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Within the jurisdiction of which High Court does Lakshadweep fall?
& 3TED 9O S HOAOS LA D SN0E?
1. Bombay High Court
5020 80
2. Kerala High Court
B8 35D
3. Madras High Court
TRV 28R
4. Delhi High Court
GO D

Options :
1. %1
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3 %3
4. # 4

Question Number : 98 Question Id : 1889601298 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What Is an ECO- MARK?
DS D) 90T DaIES?
1. A scheme for labeling Environment Friendly Consumer Product
DT°835a [DOR ST 500 (8788 Send 8050 2.8 HHgo
2. A Scheme for labeling pollution free industrial Unit
5PeNN S Gored aPOFNE ORI B2nd §H0 2,8 HGHE0o
3. A Cost-effective Production Technique
2,8 DOTS 565363 T8 §
4. An International Certification recognizing, Eco Friendly building
2,8 @0STB0H HODBAS HOOTICHO, DT*5:35€ DOR 256550

Options :
1. %1
o WD
3 %3
4 % 4

Question Number : 99 Question Id : 1889601299 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Rape involves an offence which is against:

2267E).50 @9 AOAA NDTDB0 T BO0:
1. Property
3
2. Human body
323 O30
3. Political body
03805 HOD

4. Social body
P38 DOQ
Options :
1. %1
2 2
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4 % 4

Question Number : 100 Question Id : 1889601300 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

India became the member of United Nations in the Year
23°5¢% TF0 ANT IR WE ) &S 2586 €0 SFOES D063 NS0
1. 1945

2. 1946
3. 1950
4. 1956

Options :

1.91

o %2

3 %3

4 % 4

Question Number : 101 Question Id : 1889601301 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A child born after 281 days from father’s death is presumed to be
0D SNBIO HBaeh 281 T2 §O 2300 2 S8 DTFESOMT
2" 0TIV
1. lllegitimate
291853 D0O0GE HEIS 2
2. Legitimate
SRS D
3. Intestate
DN (IPONZVOTF $HEIS )¢
4. Testate
DENIEY sDBFTIS0 TR 2DC

Options :
1.91
o %2
3 %3
4 % 4

Question Number : 102 Question Id : 1889601302 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which is the oldest Code of Law in India?
255330 €965806d T EHIFS IO DE?
1.Narada smriti

B D283
2.Manu smriti
a0 Q€3
3.Veda smriti
365 D2ged
4.Prasar smriti
DTS 20)e3
Options :
1. %1
2 2
3 ¥ 3
4 % 4

Question Number : 103 Question Id : 1889601303 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who is Judgment Debtor?
220NN IO 90EFN?
1.A person against whom a decree is passed
550 B8 270 TAHVAED H¢8
2.A person in favour of whom a decree is passed
2,8 0955 &N § OO 3558 S o
3.A person who takes loan from a lawyer
DEEANTE OB 2NEI0 3D 6958
4.A Bank which gives loans
CDETEN QD) 275050

Options :
1.v1
o %D
3 %3
4 % 4

Questlon Number : 104 Questlon Id: 1889601304 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Qinala T innn MNMurnctinm MNndinm e NTa MNindinn Nnian

tatinm o« Vnntinal
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Examination of a party to a case by his own advocate is called
55 PO T*LONIE & LO° 2.8 TS O HBE 0
DNOEFH?

1.Cross Examination

5°Q DTN
2.Chief Examination
5 ST AS
3.Re-Examination
5529 0PE&
4.Interrogation
QOCT AR
Options :
1. %1
2 W2
3 % 3
4. # 4

Question Number : 105 Question Id : 1889601305 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Goods and Services Tax (GST) was introduced in India by which

amendment to the Constitution?
55°68.) @905 OBV €75 ) (22 DR €3) 2 BHTF0S T°e32c0N0S R o
D3 T° ST° | DF DEDROR.

1. 101

2. 102

3.103

4. 105

Options :
1.v1

o oo
o ® 3
4. % 4

Question Number : 106 Question Id : 1889601306 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Who is the present Chairman of the Law Commission of India?
255054 P50 SR ABNEY (D80S B DeID?
1.Justice Balbir Singh Chauhan
220 235 DOA TS
2.Justice A.P.Shah
23000 o). 3.0
3.JusticeA.R.Lakshmanan
200 0.830 .
4.Justice B.P.Jeevan Reddy
230 B.P. 25°Q B

Options :
1.v1
o %D
3 %3
4 % 4

Question Number : 107 Question Id : 1889601307 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
At present how many female judges are in the Supreme Court?

B0 DO sNeFF® &°EODeNTTEEN MO TS e ¢?
1
2.4
2.5
4.2

Options :
1.v1

> ® oo
3 ® 3
4. # 4

Question Number : 108 Question Id : 1889601308 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Who was the first female judge of the Supreme Court?
POV TSIV WA TA P LV (O N P VO O RN INTe VY
1.Justice Bhanumathi
230 270 e3
2.Justice Fathimabeevi
2D oA DY
3.Justice Indira Banerjee
2. YOOT® B
4.]Justice Leilaseth
220, Oer D
Options :
1. %1
2 2
3 % 3
4 % 4

Question Number : 109 Question Id : 1889601309 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which one of the following is an ‘actionable’wrong?
1808 ¢3S B DAAHOS” TLONDSS IS¢ NS It )?
1.Injuria sine damnum
SN0 BHOOT 55 230650 RSN
2.Damnum sine injuria
SPE0) 230050 SPHHT) S0 EEOADCR
3.Both of the above

&2 DOCAY
4.None of the above
& 283 5°C
Options :
1.v1
2 ® 2
3 ¥ 3
4 % 4

Question Number : 110 Question Id : 1889601310 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

CQinnala T ina Nurnctinm Nntinm o« Na Nintian Neiantatinm ¢ Vantiaal
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Administrative Law deals with:
DO TIEFeN 180 3°¢38 HO2OAODDV:
1.Procedures to be followed by the administrative authorities
in the exercise of their powers and functions.
DO HSAEN s OST D DO DEDSD
QB $00DEINCR) eS0TIV DGPD"EN
2.Remedies available to a person in case of violation of his rights by
the administrativeauthorities.
DO OT® WO S sTEF O B0 DOBGE O
55588 @002 neS &5 DO TEEN.
3. Methods of control of powers of the administrative authorities.
DOFOT® OO K OOTT DONO(HED DA EN.
4. All of the above
DOV
Options :
1. %1
2 ® 3
3 %3
4 ¥ 4

Question Number : 111 Question Id : 1889601311 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following doctrines deals with Centre-State
legislative relations?
&: 806 DT 0O T0( U7 R DO0ETOE) HOZE0DN & HE?
1. Doctrine of Eclipse
DED) D050
2. Doctrine of Pith and Substance
N DO DGO BWEY DT°0H0
3. Doctrine of Pleasure
e300 AANE) V0S50
4. Doctrine of Basic Structure
LGS AT®200 LD 00

Options :
1. %1
e
3 %3
4 % 4

Onestion Numbher ¢ 112 Onestion Td : 1889601312 Ounestion Tvne : MC/(O) Ontion Shuffling : Na Disnlav Onestion Numbher : Yeg
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Where is the unwritten Constitution in force?
e9)R)ed 072700 sV &) 0O

1.lapan
2300°
2.Srilanka
&
408
3.England
QONP0O5
4.USA
O30, 0.
Options :
1. %1
2 ® 2
3.¢3
4 % 4

Question Number : 113 Question Id : 1889601313 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Name the first Attorney General of India?
200565 BNEIRNCIES 9e30) 2253 DK DaDEI?
1. M. C. Setalvad
D0.Q. N Sered
2. Chander Kishan Daphtary

250850 8 Gard
3. Niren De
e o]
4. K.K.Venugopal
K.K. S3€00 are)
Options :
1.v1
2 ® D
3. % 3
4 % 4
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Correct Marks : 1 Wrong Marks : 0

Who was the first Chief Justice of Free India?
0 8650(5 2GS BNEIES (DT T°EONTO DIH?
1.Justice HarilLal Kania
2200 °0erO QS
2.Justice Shelat
200 A
3.Justice Muthuswamy lyer
230 S ERDI LD 90O
4. Justice Fazal Al
20 HBS )

Options :
1.v¥1

o B oo
3 ® 3
4 % 4

Question Number : 115 Question Id : 1889601315 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who was the first Law Minister of India?
25504 BNEIRNEIES T°EONF°YD N[ oI?
1.Dr.Ambedkar
Dr. @023¢5).5
2.Alladi Krishna swamy
R E)ada® o)
3.A.K.Sen
AK DD
4.K.M.Munshi

K.M. S0

Options :
1.v1

o ® oo
3 % 3
4 % 4
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Question Number : 116 Question Id : 1889601316 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If there is a dispute about the election of President in India, to
whom will it be referred?

2 3S5DF0S | DVBOE DALE Dol MHB 0N, P
DSS HOJYOFS ?

1.Attorney General of India
e9¢>r0) B3O 8D RO
2.Parliament
OO
3.Supreme Court
N[0 &0
4.Chairman of UPSC
UPSC D820

Options :
1. % 1
o %D
3. v 3
4 ¥ 4

Question Number : 117 Question Id : 1889601317 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
For how many years a person has to be a High Court judge to

become a Supreme Court Judge?
N[0 50O DO LOIOTI D),
D0 YTENTT 35D 2§D 0T E)?

1. 03

2. 05

3 40

4. 01

Options :
1. % 1
oD
3 %3
L e
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Question Number : 118 Question Id : 1889601318 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Who was the prime accused in the Rajiv Gandhi assassinationcase?
0728 TPOE 53658 BN (DG QOO R )eI?
1. V.Prabhakaran
2. (888
2. Nalini
NEUY
3. Sivarasan
RIS OIS
4. Dhanu
D

Options :
1.v¥1

o oo
3 ® 3
4 % 4

Question Number : 119 Question Id : 1889601319 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A jurist can become
2,8 D°ONEVCNED (BOA DAY 0 520
1. Supreme Court Judge
N[0 & ©°50306500°0
2. High Court judge
2 50 D500
3. Auditor General of India
e3RED BIGO &35 QOBO®
4. District Judge
2 SO0

Options :
1.1
o %D
3 %3
4 % 4
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Where can a High Court Judge practise after retirement?
DD DB ST £¢5 TFED 28 DE).CH TSR TOD o3t )?
1. In any other High Court
255 250 &
2. In the Supreme Court
(D0 EHS
3. Neither(1) nor(2)
BOGBESI> (1) T (2) € TP DADZFCHED
4. Both(1)and(2)

(1)5508050 (2) BOR0E3 S5 OSSN

Options :
1. %1
o ® oo
3 %3
4 9 4
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Sub-Section Number: 1
Sub-Section Id: 18896035
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 1889601441 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What will be the simple interest on Rs.1,000 at 10% per annum?

0SS oD B.1,000 2 107 0 3G Tew (HeSo  arprde: 3G Jod

rotnofh?
1. Rs.10
&3 .10
2. Rs.50
&7 .50
3. Rs.200
& 200
4. Rs.100
& .100
Options :
1.%1
2 %2
3 %3
4 ¥ 4

Question Number : 2 Question Id : 1889601442 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Square root of 62515
625 T8y SHalareso
1, 12
2. 15
3. 25
4. 35

Options :
1.%1
2 %2
3. ¥ 3
4. % 4

Question Number : 3 Question Id : 1889601443 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

69



The average salary per head of the entire staff of an officer including the officers and
the clerks is Rs.60. The average salary per head of the officers is Rs.400 and that of
the clerks is Rs.56. If the number of officers is 12, find the number of clerks in the
office.
2.4 sorseaD08 BUSo D2Jod, ST e, MTTTed 0D Hen derdd
&roDo 5.60/- @.56008. 88 D0 @5H5HeES &. 400/-, KodrTeES
&0.56/- 583008 T H0EnOD. S Es Mo 12 0N, Mt e) R0 JOoeh?
1. 790
2. 610
3. 500
4. 1020
Options :
1. %1
2 ® 2
= %3
4. v 4

Question Number : 4 Question Id : 1889601444 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A guantity of Ragi is sold at Rs.5.75 per kg. the gain is 15% and the total gain is Rs.60.
what is the quantity of the Ragi sold?
2% &S' oAD %. 5.75 © 157515 @202 15% e730 &rod BwBo D . 60/-
HoTAEW, D) 850 TAD elSen?
1. 60kgs
60 8c5en
2. 70kgs
70 85w
3. 80kgs
80 8c5'en
4, 90 kgs

90 8Sen

Options :
1. %1
2 %
3. v 3
4 % 4

Question Number : 5 Question Id : 1889601445 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Assuming “Every Library has books" it follows:
"2 HoredHo Jmsen SO Gotnod” B & &0
1. Only libraries have books
BoTedirs Sréth Husen &aomon
2. Some libraries do not have readers
£ Sl28e%0 ardfoen B
3. Libraries are staffed
orediren Do draam) o
4. Mo library is without books
Jmsen BooE T B

Options :
1. %1
o %D
3 %3
4. 9 4

Question Number : 6 Question Id : 1889601446 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

If Attack is coded as “BUUBDL", How is "PEACE " coded?

ATTACK €:50:56) "BUUBDL" 1T 58 Tobax&a, PEACE Jer 56 Sobadoenod.?
1. MCZDF
2. QFBDF
3. NFBBI

4. ABCDE

Options :
1. %1
o vz
3 %3
4. % 4

Question Number : 7 Question Id : 1889601447 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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How many triangles does the figure given contains?

& |80 aDIS DBoS D (B2DErenTTy on?

11
12

13

o El

14

Options :
1.v1

o ® oo
3 ® 3
4. # 4

Question Number : 8 Question Id : 1889601448 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The present age of A and B are in the ratio of 8:7, 27 years ago their age was in the
ratio 5:4. Find the age of elder one.
A SHBCED B BB0E, 1Hrwed S0H0) 8: 7 D 86T Sotnod. 27 Hodeyore
18650 578 SAHA0) DA 5:14 & H0S, RODS D TR SADD D
Senfaods.
1. 60 years
B0 fI00€R TP ED
2. 72 years
72 CO0€8 TP ED
3. 30 years
30 D0ER TPED
4, 45 years

45 RDONEd JTED

Options :
1. %1
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3 %3
4. # 4

Question Number : 9 Question Id : 1889601449 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

A man buys 100 pomegranates at 50 Paise each and 50 Kiwi fruits at 60 Paise each.

10% of the pomegranates and Kiwi fruits are spoilt. The man sells the remaining
pomegranates at 70 Paise each and kiwi fruits at Re.1 each. The profit made, as
percentage of the cost is
2.4 3022 100 R H50B0 2.55,€,¢3 0.50 dew 5530, 50 £ Hold 0.60
Haen S £, 26 Tdo RS0 rEdonaran.  abfiead
TR02H08 0.70 DHER T30S, D) Hodsd %.1.00 T3S ©lnd, Fwudo
206 S, o e T 50?7

1. 50%

2. 35%

3. 33.3%

4. 26%

Options :
1. %1
e g
3 % 3
4. # 4

Question Number : 10 Question Id : 1889601450 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

A number when divided by 779 gives remainder as 47. What remainder will be
obtained by dividing the same number by 197
2.8 Howido 779 T BB 47 FAor ihendiod ..el Howidn 19 T
DFBEW &) WHoWE FA0M endIod?

.

X o

2=

4. 11

Options :
1. % 1
o %D
3. v 3
4 ¥ 4
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Question Number : 11 Question Id : 1889601451 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Sumanth bought a bag for Rs.1480 and sold it for Rs.2,072. What was his profit
percentage?
a0 0.1480/- dyerabheo ¥ el B &.2,072/-  Syorabheds
oo, eedld) erdo FTHO Jokh?

1. 60

2. 40

3. 30

4. 20

Options :
1. %1
2 VD
3 % 3
4 % 4

Question Number : 12 Question Id : 1889601452 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In an examination 80% of the candidates passed in English, 75% in Maths and
15% failed in both. If totally 490 passed the examination, calculate the total
number of candidates?

HBEE 20% 206 eofiod SBd8 FAoTD, 75% 0b Kasos SBakn
15% Bodosls dhedairsd. Indo 490 206 &NDES FHODILNS,

Fudo ;e Hows Dodd?
1. 300
2. 400
3. 510
4, 700
Options :
1. %1
o %
3 % 3
4 ¥ 4

Question Number : 13 Question Id : 1889601453 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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A man’s coat cost seven times as much as his shirt, but the bill for the two
together is Rs.416. the price of the shirt is...
2.8 o2 B85 Few B8 85 A0 £ Jch Bew BOardn. Bodr 0 K. 416/-
@one, A &8 Jo?
1. Rs.31
&.31
2. Rs.52
&. 52
3. Rs.74
&. 74
4, Rs.102

&H. 102

Options :
1. %1
o vz
3 %3
4 % 4

Question Number : 14 Question Id : 1889601454 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

& piece of work can be completed in 18 days by 10 men and 6 boys. The men work
9 hours and boys 7 ¥ hours per day and 3 boys do as much work in an hour as two
men do. How many hours would it take if the work is done by one man.
2,8 5D 10 HH08 Hodven 2B 6 K& 2rend OB 5 TR 18 Serers
8 Dard. Svapen Fe8 9 Hotren B 2rendd B2r% 7 1/2 Koten
HDTard. 3 erendd, 2 JHHDen T HD 2.8 fob S'B FOTard. 2.8 S
2.8 002 e DAN 0T direc A Hotren Hédiod?
1. 2160
2. 3526
2. 725
4. 893
Options :
1.v¥1
2 ® 2
z %3
4 % 4
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Correct Marks : 1 Wrong Marks : 0

In & group of 100 birds, 85 had a long beak, 45 had grey feathers and 38 had both a
long beak and grey feathers. How many did not have a long beak and did not have
grey feathers?
100 HEIE DATEFOET, 85 aFHES S SA0%0L S, 45 TGS Sefen EOR Gy O
8050 38 EFda e 8oy SH8ain 200G Sof Sfen Gy on. R E38
SPATS SwBoy, 2GS Sk Sifen BY?
1= 35
2. 35
3. 8
4. 2
Options :
1. %1
2 %2
3. ¢¥3
4 % 4

Question Number : 16 Question Id : 1889601456 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In terms of history, A.D. stands for
25616 D530 AD. @0Ty D0eEd?
1. After Christ
1S bdamed
2. Anno Domini
oSy Sl
3. Aide-de
w)0005-Ch
4, After Death
WSETVOSS0
Options :
1. %1
i
3 %3
4 % 4

Question Number : 17 Question Id : 1889601457 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The first Noble Peace Prize was awarded to in the year 1901.
1901 03B 1008 Bdied S'BS 708 HSarido 568 2S5 230d.
1. Roosevelt
ErB2s9
2. J.H.Dunant
LH. cosorod
3. Charles Darwin
@0~ 85w
4. Alfred Nobel
@88 586
Options :
1. %1
=
3. %3
4 % 4

Question Number : 18 Question Id : 1889601458 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which is the longest river in the world?

(DHOBOES 298l FPSED S SO DE?

1. MNile
2. Amazon
BIETD
3. Mlississippi
2RIV
4. Brahmaputra
22721
Options :
1.1
2 82
3 %3
4. # 4

Question Number : 19 Question Id : 1889601459 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Who has been appointed recently as the first Lokpal of India?
2350 2r SATEE BuSE S5 S T D55 DD ST E?
1. Justice l.Chelameswar
2un 1. Do b
2. .Justice P.C.Ghose
2P0 DD D
3. Justice Arun Mishra
2D et F
4, Justice MadanB.Lokur
2R DA D SErb

Options :
1. %1
o vz
3 %3
4 % 4

Question Number : 20 Question Id : 1889601460 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The International Labour Organisation was established in
2080 A Bab esdTBAS & rhodadod
1. 1919
2. 1944
3. 15950
4. 1961

Options :
1.v1

o ® oo
o ® 3
4 % 4

Question Number : 21 Question Id : 1889601461 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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The Head Quarters of International Monetary Fund is at
20630 A0S ATV8 Hoh ThR 86y
1. Geneva
BodaT
2. Rome
5
3. Washington
Tanolo
4. Vienna

O

Options :
1. %1
o R
3. v 3
4. # 4

Question Number : 22 Question Id : 1889601462 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The main source of power in India is
2SS TR0 D088 1DES ST Hod
1. Hydro-electric
D TANELY
2. Thermal
HED
3. Nuclear

EDERD A)CFER)
4. Solar

Sie)
Options :
1. %1
o vz
3 %3
4. % 4

Question Number : 23 Question Id : 1889601463 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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A man jumping out of 3 moving train due to inertia is thrown
Z&oeneind) Bew od s S8 B8 re38 o (5% %5 D28 FchadeErd
1. Back ward
oSy
2. Forward
SS0C0E
3. Towards side
12252 8
4. Falls flat
Zrans cdroedomr
Options :
1. %1
2. ¥2
3 %3
4 ¥ 4

Question Number : 24 Question Id : 1889601464 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the name of the instrument used for measuring blood pressure?
SEFendd Foland aodirfion H0%8o G3ng) b daned?
1. Lactometer
§ BSrHgSw
2. Sphygmomanometer
AR AP IS N PAN A e
3. Stethoscope
WAFLD
4, Endoscope
JOEBRELD
Options :
1. %1
i
3 %3
4. # 4

Question Number : 25 Question Id : 1889601465 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Wheo invented the television?
BODBE 0 Dedth SR &H?
1. Galileo
OO

2. Newton

s830
3. J.L.Baird
1L, 238
4. S.N.5inger
S.N. ro0anb
Options :
1. %1
2 %
3¢ 3
4. # 4

Question Number : 26 Question Id : 1889601466 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Fish can survive inside deep-frozen ponds because—
ABEES SBS Thde SHe THen Hfie ArAodiesd. JodTes ?
1. Fishes are cold blooded
Toen D0 35 EOA sotron
2. They hibernate
TETSRE0 €900 OO a’::@%;e‘_&aﬁ Reho e NenihaEran

3. lce is a good conductor of heat

0TH BAS Sod) SodkEd

4. There is water at 4°C below frozen ice

AgpEedd oo 18od 4 Qe Dol 38 % &od

Options :
1. %1
o %D
3 %3
4 v 4

Question Number : 27 Question Id : 1889601467 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Dioptre is the unit of power of ---
ATBr R (Dioptre) &F& O 35 B, ahrde —
1. Light
[S05]
2. 5ound
2rob
3. Energy
3§
4, Lenses

EgaESnen

Options :
1. %1
o ® oo
3 %3
4 9 4

Question Number : 28 Question Id : 1889601468 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Diamonds are weighed in _
See 2k & G180d 7 Erdod Fenard
1. Grams
[MTaale
2. Pounds
ol
3. Carats
Elolool
4. Tons

d30007 @)

Options :
1. %1
o %oz
3. ¥ 3
4. % 4

Question Number : 29 Question Id : 1889601469 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Deficiency of iron causes
388065 @ S B8 ST T80
1. Nervous disorder
b Soiize
2. Anaemia
BEarses
3. Leukaemia
ensSoir
4, Heart disease
ool 5H
Options :
1. %1
2. ¥z
= %3
4 % 4

Question Number : 30 Question Id : 1889601470 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Binomial Nomenclature was introduced by—
NerHahe TonoESh S5 DB ST
1. Robert Hooke
o2 Ut
2. Carolus Linnaeus
E8en T cabm
3. Darwin
05
4. Herbert Spencer
PS8 RSB

Options :
1. % 1
e
3 %3
4 % 4

Section Id :
Section Number :
Section tvpe :

Fart B: Current Affairs

18896036
2
Online
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Number of Questions to be attempted: 30

Section Marks: 30

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 18896036
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 1889601471 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

In which two states of India, Defence Industrial Corridors are being built?
2SS TS0 Bodh T TS B DSy 2o RS =6aby A5G
B0t dndnT) an?
1. Maharashtra and Haryana
JosFoe ) 805 o
2. Punjab and Andhra Pradesh
Doz Sdci esodHTT
3. Tamil Nadu and Uttar Pradesh
STy B0 FSENTT
4, Andhra Pradesh and West Bengal
2301 19T ooty ST Borrd
Options :
1. %1
=
=¥ 3
4 % 4

Question Number : 32 Question Id : 1889601472 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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Which State topped the medals tally at Khelo India Youth Games 20197
B 20605 GG T 2019 65 Hedser HETES' D oo e|fiardod
wO&?

1. Haryana

PO
2. Delhi
&9
3. Maharashtra
DaFT 2}
4. Kerala
Eleld
Options :
1. %1
2 %2
2. ¢¥3
4 % 4

Question Number : 33 Question Id : 1889601473 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which State has allocated 384 Crores for ‘Smart Village' campaigning?
w8 D8S T 1HTorRE 384 5D Seranodd T a0 O8?
1. Punjab
Ter~ vl
2. Maharashtra
S|
3. Haryana
FO 5o
4. Karnataka
Sgrénd
Options :
1.¥1
2 ® 3
3. %3
4 % 4

Question Number : 34 Question Id : 1889601474 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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in which State did the Defence Minister Smt. Nirmala Sitharaman inaugurate the
Diffo Bridge over Chiu River on 18" January, 20197
350708 D10 VS TR 2019 2538 18 S HAD &R ‘ST
J0BED 2 T a0 Erdodomdn?

1. Arunachal Pradesh

eDETOO |00
2. Manipuri
S350
3. Magaland
orerof
4. Meghalaya
arrerals
Options :
1.v¥1
2 82
z %3
4 % 4

Question Number : 35 Question Id : 1889601475 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Who has become India's youngest Grandmaster in Chess?
2756 B0 @8 HS) Sdbinjhie 5S808 Errs B TS S?
1. Dinesh Sharma
TR 35
2. D.Gukesh
(VRS
3. P.RameshBabu
P. S 2raw

4, KNenkataramana

K. Sogér S

Options :
1. % 1
e
3 %3
4 % 4

Question Number : 36 Question Id : 1889601476 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Which satellite has been launched by ISRO to study Sun?
AR B0 ®G00M00 TODERE JEF ) doliain, ardododod?
1. Prithwi2
D52
2. Agni
eafiy
3. Aditya-L1
esdyebs-[1
4, Aayu M1
esCijn M1
Options :
1. %1
2 ® 2
=¥ 3
4. % 4

Question Number : 37 Question Id : 1889601477 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Imran Khan took oathas __ Prime Minister of Pakistan.
BATS TR FEFR_ 100 Doedrr erdHgeden & s¥Bow .
1. g
22 &
F.. FEE
215
3, 23+
23
4, 24t
24 %5
Options :
1.v1
2 ® 2
3 %3
4. % 4

Question Number : 38 Question Id : 1889601478 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Kofi Annan who passed away recently, had received which Award?

£ 951 & 28358 & Hddom . 7% 2 ead) ooty &7?

1.

Options :

1. %1
o vz
3 %3
4 % 4

Booker Prize
EavE sl e )
Nobel Prize

S B DIV
World Food Prize
389 HB (e
Mone of the abowve

e

Question Number : 39 Question Id : 1889601479 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Who became the first Indian Woman to win gold medal in Wrestling in Asian Games?
esdair 848 %) Fos 2ord SS50) FHODS FO HIPe JSH?
1.

Options :

1. %1
2 %
3. ¥ 3
4. # 4

Geeta Phogat
A S
Babita Kumari
2oy 50570
Sakshi Malik
28 SrOE
Vinesh Phogat
ANA Frrdd

Question Number : 40 Question Id : 1889601480 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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Which Airport has emerged as the second fastest growing airport in the world?
D00 D & Ko 2dKeS) Boks dSrmrFchor o
DAFErFoho SO N0008?
1. Mangalore International Airport
Sroferdh modgredd DirmrFaho

2. laipur International Airport

26 modgradh DSrrEoho
3. Kempegowda International Airport
205 woSTach DaraIcho
4, Trivandrum international Airport
|DFoI%0 oSBT HAH DSTFTFCH0
Options :
1. %1
2 %2
2. v3
4 % 4

Question Number : 41 Question Id : 1889601481 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who is the Union Minister of Water Resources?
23 B5%e Sod ol ST
1. NitinGadkari
DA Kb
2. SushmaSwaraj
far] coSTES

3. Arunlaitley

e el Bed
4. PiyushGoel
SHosnn Aiohs
Options :
1.¥1
o %oz
3 %3
4. % 4

Question Number : 42 Question Id : 1889601482 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Mational Sports Day is observed in India on which day?
D) B2 o7 58 B306S 2R aD 1867 BT 150 T Koo d?
1.

Options :

1. %1
e
3 %3
4 % 4

28™ August
28 esfiop
29™ August
29 esfiey
215 August
21 esfieg
22™ August

22 esfiop

Question Number : 43 Question Id : 1889601483 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Asian games 2018 were held in which country?
a2 G5 188 ex 2018 & O B0 ebron?

1.

Options :

1.v1
o %D
3 %3
4 % 4

Indonesia
ROE DO
India

2T &340
China

ot
lapan

o

Question Number : 44 Question Id : 1889601484 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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‘Atalli Ne Kaha", A book on Vajpayee was l[aunched recently by whom?

T on 2 2SS reed) F L5 H0Eo 23638 réododntios?

1. President Ramnath Kovind

Options :

1. % 1
o VD
3 %3
4 ¥ 4

T aae Tromh §0od

Prime Minister Narendra Modi
ISCSS0018 SBovard

Union Home Minister Rajnath Singh
S0185 o Jooled ol ord mof
Union Finance Minister Piyush Goel

CHrACHS DR o Hohrh Fabhd

Question Number : 45 Question Id : 1889601485 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which country topped the Medal’s Table in the 2018 Commonwealth Games
2018 ST 5D L_gc‘iaf;_ff Hebsres HEES O B0 esfiarsod eroDob?

1.

Options :

1.1
o %D
3 %3
4 % 4

Australia

e AT
England
Rorod
Canada
e

India

&S50

Question Number : 46 Question Id : 1889601486 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

91



Which among the following is the World's most valuable brand as per the Forbes |ist?

%1208 763 5, erdEr H5 S0 (HH0N0S ® o8 Denmd 2rol D&?

1. Apple
e
2. Google
o
3. Microsoft
DETD
4. Facebook
L5 )
Options :
1.v1
2 ® 2
3. %3
4 % 4

Question Number : 47 Question Id : 1889601487 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The Nipah virus outbreak was first detected in which State of India?

Dar BED DOEIB0GE) 2rESEI0S 2 TR0 Ly &7

i B

Options :

1.1
o %D
3 %3
4 % 4

Kerala
S

Goa

o
COdisha
2.0
Tamil Nadu

STt

Question Number : 48 Question Id : 1889601488 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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Which city is declared as the cleanest city under the Swachh Survekshan Survey, 20187
0505 00 30 D0 52018 208 @50 HADH T SHGorr 2 SfiSo (DEEoSniod?
1. Chandigarh
Yol Yole
2. Bhopal
Zoard

3. Pune
]
4, Indore

20860
Options :
1. %1
2 %
3 % 3
4. ¥ 4

Question Number : 49 Question Id : 1889601489 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

How many countries participated in 2018 FIFA World Cup Football, Russia
FIFA |05 5 385 a7, 2018, 83r3¢T D) Ten 7€ on?

1. 24

2. 28

3. 30

4. 32

Options :
1. % 1
o %D
3 %3
4. v 4

Question Number : 50 Question Id : 1889601490 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

93



Which Indian State imposed total ban on the use of Plastic?

TS GsD) HOIFELoMm 9 2rdach TR0 o0 D0S?

1.

Options :

1. %1
o %D
3 %3
4 v 4

Punjab

S Totvirs]
Haryana
Lol e
Odisha
2.6haxr
Maharashtra
S VReL o

Question Number : 51 Question Id : 1889601491 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Which company setup the World's largest mobile factory in India?
2FSSTH0 (HIH0N0 @ 2d DBS Lo o D fo08 TS 067?

1.

Options :

1. %1
o vz
3 %3
4 % 4

Apple
DD
Nokia

o Salir
Samsung
Fanyoh
M
2O

Question Number : 52 Question Id : 1889601492 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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In which State ‘Statue of Unity" is located?
‘0¥ DRSO D oo Sod?
1. Gujarat
fozord
2. Rajasthan
orzsy

3. Maharashtra

SoaFor| e
4. Tamil Nadu
B 20T Cho
Options :
1.v1
o ® 2
3 % 3
4 % 4

Question Number : 53 Question Id : 1889601493 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

What is the name of the engineless train developed in India?

FSSEI0S noRS Bioa 330 Jobhardhard) Den Tidh Ded?

1. Trainls
| B 18
2. Train 20
| B 20
3. Train 22
[T 22
4. Train 25
| B 25
Options :
1.v1
2 %2
3 %3
4 % 4

Question Number : 54 Question Id : 1889601494 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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Who was the Chief Guest at the Republic Day celebration of India in 20197
2SS T8 6385 T 2019 Fwierdd Snw;ead JS%H?
1. President of Thailand

ronerob eaddySodh
2. President of Malaysia
SHThair evdsEadh
3. President of South Africa
S8 e s evdh3Socho
4, President of South Korea
¢35 e2 EBar e och
Options :
1. %1
2 %2
3. ¢¥3
4 % 4

Question Number : 55 Question Id : 1889601495 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The World Environment Day is celebrated every year, on

1983 095150 DDO DTS A0 N0 o Ozr a3 Sotrd?

1. 5% ofJune
D55 38

2. 10™ June
230 10

3. 15 March
a8y 15
4. 14™ November

14 dedo0b

Options :
1.v¥1

o oo
3 ® 3
4 % 4

Question Number : 56 Question Id : 1889601496 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Who is crowned as Miss Universe 20187

2018 200 CATRH0 T Ja TddodaFdh?

1. Miss USA
205 UsSA

2. Miss India
0 oy

3. Mliss Thailand
b Eronercd
4. Miss Philippines
20 OIS
Options :
1. %1
2 ® 2
z %3
4. ¥ 4

Question Number : 57 Question Id : 1889601497 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Who is appointed as the new Governor of the Reserve Bank of India?
2r&es B230 5 a8 & K558 06 258 Rabhnderadrsn?
1. Hasmukh Adhia

S0 es AT
2. Shaktikanta Das
iSsos o
3. Nripendra Misra
S0l JolFE
4. Amitabh Kant
wErS sodd
Options :
1. %1
=
3. %3
4 % 4

Question Number : 58 Question Id : 1889601498 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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Who has been awarded the Inanapith award for the year 20187
2018 50568 T8 TS o D568 1Hordo TFn?

1. Anita Desai

e 7ol
2. Arundhati Roy
X056 T o
3. Aravind Adiga
widod b
4, Amitav Ghosh
29530 eh T
Options :
1. %1
2 %2
3 %3
4. 9 4

Question Number : 59 Question Id : 1889601499 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

India’s longest rail-road bridge ‘Bogibeel Bridge” is inaugurated in which state
2 ESTHo Bk ©S08 FESS Ben-8rod 5083 'SHDS DG D o noe
lardododndod
1. Assam
R0

2. Arunachal Pradesh

e EF OO (09
3. West Bengal
7 0 Borrso
4. Odisha
2.Char
Options :
1.v1
2 ® 2
3 %3
4. % 4

Question Number : 60 Question Id : 1889601500 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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‘NITI AAYOG' proposes Years Action Agenda
'NITI AAYOG' [red ead3rh) GiFrs S R0 |D68ardd © 5o H820e )

ESTaPals Tyleul iy

1. 3
F. 4
3 5
s
Options :
1.v¥1
2 ® 3
3 % 3
4 % 4
Part < Aptitude for study of Law
Section Id : 18896037
Section Number : 3
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 60
Number of Questions to be attempted: 60
Section Marks: 60
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 18896037
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 1889601501 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which part of the Constitution of India deals with the Directive Principles of State Policy ?

ardeh TrarsofoS S Qartio ubE AFErefo Hon0soD0E?

1. Parthi
=om
2. PartIlV
zrfio v
3. PartV
TV
4, Partll
zrfio
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o WD
3 ® 3
4 % 4

Question Number : 62 Question Id : 1889601502 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The present Chief Justice of India (as in May 2019) is:
[DeDeh | DTS Przoeanrd (3, 201977¢38 ):
1. Jlustice Ranjan Gogoi
By Soze imrdd
2. Justice 5.A.Bobde
2 S.A 2T
3. Justice N.V.Ramana
2D N.V. S0
4. Justice Dipak Mishra
zan A58 uF
Options :
1.¥1
o %o
3 % 3
4 % 4

Question Number : 63 Question Id : 1889601503 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which one of the following is not a source of law in India?

2FSSEF06 B06 Te3d 1560 T Sreo D6 TE?
1. Custom
LD
2. Public opinion
SHerdaralo
3. Legislation
BEWAS
4, Precedent
Jrd o oed Hfciren
Options :
1. %1
2. ¥z
3. %3
4. % 4
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Question Number : 64 Question Id : 1889601504 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

‘Equality Before Law' and ‘Equal Protection of Law'are guaranteed under which
provision of the Constitution of India?

"25830 SS00E0 Mo 1o’ SBakn 980 TBE) TS 55 0 'erdetido OlnE)
orzrsofio T < AoHD0 (P5°E0" €80T ?

1. Article 12
304 12
2. Article 13
e 13
3. Article 14
e 14
4, Article 15
e384 15
Options :
1. %1
o ® 2
3. v 3
4 % 4

Question Number : 65 Question Id : 1889601505 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The Union Council of Ministers are collectively responsible to —

o) chole 00 nodiniorr D508 arddsed SoFRol ?

1. President
e s80ch
2. Prime Minister
(DS 0| ed
3. Lok5abha
%33
4, RajyaSabha
orEsgead
Options :
1. %1
2 %2
2. v3
4 % 4

~ .. - = o~ .. w2 Aannn-neamn-s o~ .. e n~wNA~ o~ L ~ oo e -
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How many judges are there in the Supreme Court of India including the Chief Justice of India ?

PSS (AOS TIOIrOIBE 55 oo B Joddh orioharden dom h?

1. 31 Judges
31 megabaurden
2. 28 Judges
28 wrsohsurden
3. 27 Judges
27 s ordyen
4, 22 Judges
22 mraisardyen
Options :
1.v¥1
2 ® 2
3. %3
4 ¥ 4

Question Number : 67 Question Id : 1889601507 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
How many Statesin India have Legislative Councils?

2FSSEE0S DD TaFen T odbeners SO ey an?

T 3
i
Z: “F
4, 8
Options :
1. %1
o %2
3. v 3
4 % 4

Question Number : 68 Question Id : 1889601508 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The age of retirement of High Court Judge is—
rED Trsohanrd DD DES0 Soha -
1. 62 years
62 f30eaes jTrE)
2. 64 vyears
B4 raCeoeh JTmew
3. 65 vyears
65 roCeaes JTPeN
4. No age limit
30550 HBLE B
Options :
1.v1
2 %2
3 %3
4 ¥ 4

Question Number : 69 Question Id : 1889601509 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Cultural and Educational Rights are guaranteed under —

o E 80k Do oy e S efid 1fod% Siow -
1.  Articles 29-30
e30¥y29-30
2. Articles 30-31
es%e 7 30-31
3.  Articles 31-32
es¥65 3132
4, Articles 32-33
e 32-33
Options :
1.v1
o ® 2
3 %3
4 ¥ 4

Question Number : 70 Question Id : 1889601510 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Directive Principles of State Policy are inspired by the Constitution of
DL AFEreD o) TraTioRoD 1968 ot @an
1. England
=oTol
2. America
ennds
3. Ireland
oTrobh
4, Germany
28R
Options :
1. %1
=
3.3
4 % 4

Question Number : 71 Question Id : 1889601511 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Under Public Interest Litigation, who can move the Court ?

HE 200 OBHAS 208, 25 S80S eFanotdS o )?
1. Any public-spirited person
D HEE erery2ped 558
2. Person whose right is infringed
TH) SO0WoRAN S5
3. Arecognised social worker
80 SFOSM ardraE 588
4, Newspapers
TTHesen

Options :
1.91
o %2
3 %3
4 % 4

Question Number : 72 Question Id : 1889601512 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The present Chairman of the National Human Rights Commission is
o 2PedCl) SIS iupe ER0AS T81S

L

1. Mr.JusticeM.N. Venkatachalaiah
Mr. 23595 M.N.SoZerserals
2. Mr.JusticeR.5.5arkaria
Mr. 23 R.S. 007y, 80
3. MrJusticeG.L.0za
Mr. 2305 G.LA.2T
4. Mr.JusticeH.L.Dattu
Mr. 23000 H.L &eh)
Options :
1. %1
2 %2
3. %3
4. ¥ 4

Question Number : 73 Question Id : 1889601513 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The fundamental duties in India are—
27 &6 T30S IS0 Srhapen -
1. Enforceable at the time of punishment
¥ Slchos eden Tobadtaran
2. Mot enforceable
e 0e0 TOHSASE ¢
3. Useless
DRETRD
4, MNon-enforceable, but of educative value

9306 TONSAD), DT EIBOTT Dewdcin)

Options :
1. %1
o %D
3 %3
4. ¥ 4

Question Number : 74 Question Id : 1889601514 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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What is the meaning of the expression “Amicus Curiae”?
esani 70" (“Amicus Curiae”) & D50 gy 00 Jawed?
1. Friend of the Court
5D TwE) Ty ardachy

2. Representative of People

1532360 (S
3. Anamiable person
@R 558
4, An eminent person
2.5 | 2ed0%) 35S
Options :
1.v¥1
2 %2
3 %3
4 % 4

Question Number : 75 Question Id : 1889601515 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
From which Constitution was the concept of a Five Year Plan borrowed into the

Indian Constitution —
o786 Trar ;olo S S 8inHd) HotsS INErYE eF S D Trersolio o
ot HOb?
1. USA
). 0. 2D.
2. USSR
Cin.DR.00.esb
3. UK
ciw.E.
4. lreland

ook

Options :
1. %1
e
3 %3
4 % 4

Question Number : 76 Question Id : 1889601516 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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The President nominates 12 members to Rajya Sabha from people having special
knowledge or practical experience in —
T8 (8od DS Sored A8 ardo B endido YO8 &y
12 006 DEbiedy Trass o5 JoDE Terc.
1. Social service, art, science and literature
TATRE S, B, DT N0 SO arird o
2. Literature philosophy, law and social work
ararehso eheb oA A0, L0 OGN AraTRE T
3. Literature, art, science and law
arares o, £%, DerdET R0 ddin SEo
4, Public life
|z ZDedo
Options :
1.v1
2 %2
3. %3
4 % 4

Question Number : 77 Question Id : 1889601517 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Rajya Sabha has—
Trzsgrod € 206 DHoT drotnod.
1. Aterm of 6 years
6 oS yores 25 oo
2. A term of 5 years
5 DHose yore S Teo
3. Is a permanent body, with 1/3™ members retiring every 6 year
2.2 T35 Do (986 D D023 80 1/3 S S0 DA DBl ORI
HEhrerds
4, Isa permanent body, with 1/3™ members retiring every 2™ year
3565 DOW, 9968 2 5 DHOSS B0 1/3 S S0 HED DSSoe EORS
Dzee
Options :
1. %1
2 %2
3 % 3
4 9 4
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& Bill becomes a law only when —
2.4 DO 580 D3¢0 e etood ?
1. Itis duly passed by both the Houses
DS &rHchides h eIraoddsd
2. Itissigned by Prime Minister
ETS 0088 Deb 080 Tadaydhd
3. Itissigned by Speaker and Chief Justice of India
2356 28050 D 2R Hoddo TS
4, Itissigned by the President
Trlaloed  m0dEo Traencd

Options :
1. %1
2 %
3 % 3
4 ¥ 4

Question Number : 79 Question Id : 1889601519 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Minimum number of Judges which can give an advisory opinion to the President is —-
2508 HeFen 2d 3 R0 orgohaardyen —
1. One Third of the total strength of Supreme Court
DopHofS o) BuSo Hibhied Sl Sodd

2. Five
200 fo
3. One Half of total strength of Supreme Court
S0 59 @uE; Sudo & Hko
4, Seven
ek Mo
Options :
1. %1
2. ¥2
3 %3
4 ¥ 4

Question Number : 80 Question Id : 1889601520 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Who was the Constitutional Advisor to the Constituent Assembly ?
oreofl 0% ool e dedn?
1. Dr.B.R.Ambedkar
Dr. B.R. @023¢5,.5
2. 5irB.N.Rau
O BN. T®
3. Sir lvor Jennings
2B 2000 200
4. Dr.BabuRajendra Prasad
Dr. 2r2ay o200 [Dard
Options :
1. %1
2 ¥0o
3 % 3
4 % 4

Question Number : 81 Question Id : 1889601521 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Who is the source of legal authority of India?
2T SebiaH0 TSR &5 S0 TBEL Sfhen Dh?
1. People of India
2 Seh T3 (Deen
2. Constitution of India
27 &b Trersofio

3. Parliament of India

276 orOh0én
4. President of India
2S5 E0 B0E, eaddsSock
Options :
1. %1
o o
3 %3
4 % 4

Question Number : 82 Question Id : 1889601522 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

109



The father of International Law is—

'R0E0 ] Ao e (International Law) DEF0TVC Daain?

1. Plato
iy
2. Aristotle
wiarddo
3. fGrotius
FACHD
4, Denning
Gy of
Options :
1. %1
2 %2
2. v3
4 % 4

Question Number : 83 Question Id : 1889601523 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Defamation infringes upon a person’s right to
20y S0 RS 2.8 558 WuEy D W% Sofo
1. Reputation
e
2. Pride
STVOTT B0
3. Privilege
00

4, Status

—

LT

Options :
1.v¥1

o oo
3 %3
4 % 4

Question Number : 84 Question Id : 1889601524 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The disobedience of any judgment, order, etc., of a court amounts to
A0 e )i SO0InotEo
1. Perjury
encaebso

2. Contempt of Court

rsoarS &8
3. Offence
=Bo
4, Forgery
Sgels
Options :
1. %1
2. ¥z
3. %3
4 % 4

Question Number : 85 Question Id : 1889601525 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What does ‘adjudication’ mean?
il oo ot daned?

1. A decision given by an umpire

207200 2 DJcho
2. Mediation

G500 e 5o
3. Arbitration

e38 )y B

4. Decision given by the court
£ 2d 3 dcho
Options :
1. %1
2 %2
3 %3
4. v 4

Question Number : 86 Question Id : 1889601526 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Capital offence results in—
Ehed o) DN (2on FE S0N00

1. Sentence of death

06 38
2. Sentence of life-imprisonment
A2e8 Teo 5
3. Imprisonment over 10 years
10 oSS Te E0T) 250D B
4. Amputation
OB OO
Options :
1.v1
2 %2
3 % 3
4 % 4

Question Number : 87 Question Id : 1889601527 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

All disputes relating to election of President and Vice-President are enquired into
and decided by the ---

omBos 8cin B0 Bos) 203 $0%0 oo G0N 898 DT e

2AonoT wHFTE0 H568 Gotnod?

1. Supreme Court

eéhyzed) & T a0
2. Election Commission
ey Ees Enaam
3. Parliament
ardaos
4, Delhi High Court
& &P
Options :
1.v1
2 ® 3
3 %3
4 % 4

Question Number : 88 Question Id : 1889601528 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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‘Bhopal Gas Leakage' case falls under the classification of law of
Sard i O 8 ouohTRo SR 2 Derio B0k Sos?
1. Crimes
Soren
2. Negligence
DB 50
3. Torts
&8 @Erien
4, Contracts
2.2 00T en
Options :
1. %1
2 ® 2
=¥ 3
4. % 4

Question Number : 89 Question Id : 1889601529 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

“lgnorance of law excuses no man, not that all men know the law, but because it is
an excuse every man will plead.” Who said these words?
000 BOHSD 65 T 980 Eotick, ®odes oridho 8Hdiren
B0, 0 1988 DA E S35 THSD DAHOHEFEFDE Drded vlTio
£6) 1005 D). S Areed) 6 557
1. Rousseau
ohyg
2. John Wilson
R
3. John Selden
TR VOO
4. B.H.Brewster
B.H. 2270
Options :
1. %1
2 ® 2
3.¢¥53
4 % 4

Question Number : 90 Question Id : 1889601530 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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A final order of the Court pronounced on the hearing of the suit is called-

e T a8 B8 Sad TUoDE N0 FD ) Ded e

2eDOETED? -
1. Result
Hededo
2. Degree
&|h
3. Decdee
&8
4. Deed
&&
Options :
1. %1
2 %2
2 v¥3
4 ¥ 4

Question Number : 91 Question Id : 1889601531 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
‘Husbandry’' is a term related to
o208 (Husbandry) @ Do BRE HodoBoDSE?
1. Marriage
DaTaT O
2. Farming
0550

3. Protection

&5
4.  Industry
Yol Bt
Options :
1. %1
2 ¥52
3 %3
4 % 4

Question Number : 92 Question Id : 1889601532 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The killing of new born child by its parents is called -

Sdered FH) ) S Soen e DG tSondo 2énSodd Bdo 1Bod SNod,

1. Infanticide

D% Seebs
2. Abortion
ASRrS0
3. Foeticide
Eav=tel 1,
4, Malfeasance
oS0
Options :
1.v1
2 %2
3 %3
4. # 4

Question Number : 93 Question Id : 1889601533 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A’ sets up a liquor shop and starts selling liguor. He is doing something wrongful or
illegal unless he has—
') @9 3a¢h) 208550 SN ER0 oty &N T ¢S50 e07¢80 BSewakT .
e0eb 0 TSy & 823, & 1208 5835 D& 2,483 Boom Sdzo eido Bdo.
1. Court Order

E'D eaiB
2. Official Consent
eH508 esdoes
3. Authority
©HEO0
4, Llicence
[SENTN N
Options :
1. %1
2 %2
3 %3
4 ¥ 4

Question Number : 94 Question Id : 1889601534 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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What is a ‘moot’?
'20reS' (Moot) @0T) 2nel?
1. A basic point of law
we)o Gl 9% emodo
2. A basic fact of case
2.5 [ardand Seo
3. Mock court, for practice by students
Defher @aredo 500 &8 559
4,  Another name for Magistrate Court

o2 RO D% HE

Options :
1. %1
o %oz
3. ¥ 3
4. % 4

Question Number : 95 Question Id : 1889601535 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A formal instrument by which one person empowers another to represent him —

2,8 538 B B8 EEOE S WHTTR), WA JERE WD) s nad

0T ?
1. will
fea) €80

2. Power of attorney

oz J|so

3. Power
eaH530
4. Instrument of representation
aredddds ehsdo
Options :
1. %1
i
3 %3
4 % 4

Question Number : 96 Question Id : 1889601536 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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A person who takes up proceedings against the accused on behalf of the State—

T 20 8853 DoSdve D BT S:8.

1. Judge
VIO VWN )
2. Lawyer
eI d
3. Attorney
2858
4. Prosecutor
So8rseb
Options :
1. %1
2 %2
3. %3
4 9 4

Question Number : 97 Question Id : 1889601537 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A invites B for coffee in a restaurant and B accepts the invitation. On the appointed date,

B goes there but A is not found. In this case

A o3 S8 B oF osdd af SrdoS H o & S31D eFfdard. B i
wofE8ardn. 0 i) BAE JHASrDE ATartos 2 o By, & Tnd
1. B hasno remedy against A
B %0 énS0e) HBFE0 B
2. B has to wait for another invitation from A
B c00D 5% &35 50 00 3D domd
3. B hastheright to sue A for not honouring his words
A %0 o SODERE B o FE0) G0
4.  Ahas to invite B again, to perform the promise.
A 5595 B & a5t Do), Trdo Do BepEerde
Options :
1.v1
2 %2
3. %3
4 % 4

Question Number : 98 Question Id : 1889601538 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The act of unlawfully entering into another's property is called
S08% 6 133y § HoBoHod BEDBDHDOM (HaT0TS LBeD Denayed
1. Breach of property
2300 FEIOADAD

2. Trespass

S8 e Eoe
3. Triplication
(SRENE]
4, Trover
ts)
Options :
1. %1
=
3. %3
4 % 4

Question Number : 99 Question Id : 1889601539 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The legal abbreviation of LL.B. is—
LLB. BBnE Ho§ DESe B 8 Hdo
1. Bachelor of legal Law
27 Db e OGS ex
2. Legalite Lawyers Baccili
DKBES erainb) erd
3. Legum Baccalaureus
Do rsedh

4. LegalitelexiBaccili

XSS BEy -
Options :
1. %1
o ® D
3 v 3
4 % 4

Question Number : 100 Question Id : 1889601540 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Criminallawis__  law
BSOS S0 HEABS 2. 5mD8 HoBoB0DSS.
1. Public law
HEE er
2. Private law
o er
3. Customary law
ot er
4, Special law
WM e
Options :
1.1
2 82
3 %3
4. # 4

Question Number : 101 Question Id : 1889601541 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

What is the primary responsibility of the Security Council of UN?
UN 21858 So0che) Ty 1060 erddsed Daned?
1. Maintain world heritage
0t TEoErsD) sardh EaSdo
2. Maintain world food
&0 eFord) sard ESdo
3. Maintain world award
100 @3 A sarocido
4, Maintain peace and security in the world

DHoR0S ToBD BTk B(S65 ESarfoddo

Options :
1. %1
o %2
3 %3
4 ¥ 4

Question Number : 102 Question Id : 1889601542 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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India’s Dr.Homi Jahangir Bhabha had been the president of the
2rBeb B8 Ho2080DS 85 T 2700t ey BOE eSS
creoey &o?
1. United Nation Development Programme
AR T6 Fad Baowodd |9 T
2. International Labour Organisation
oSTeaH 56% How
3. The United Nations Educational, Scientific and Cultural Organisation
& BT B8 BAR) V0BRSS, 206338 @oh fo 380 adTELS
4. The International Atomic Energy Agency

o

oS T eI eogm 48 How
Options :
1. %1
2 ® 2
3 %3
4 ¥ 4

Question Number : 103 Question Id : 1889601543 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
When did World Health Organisation (WHO) come into force?:
1535055 ea8s D0 (WHO) D536 8958 & 383087
1. 6™ April, 1948
QDS 6, 1948
2. 7™ April, 1948
DO 7, 1948
3. 10" April, 1948
DS 10, 1948
4, 26" April, 1948
26 J>®, 1948
Options :
1. % 1
e .
3 %3
4. # 4

Question Number : 104 Question Id : 1889601544 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

120



‘Professional Ethics’ is
P DASS HT ywoD
1. Set of rules relating to personal character of professionals
Dayeaned SzSiied redBo no0H 0D Aohdren
2. Traditional rules observed since long time
TEF 500 N0 rEIANN)  ArolErad AoDaTeD
3. Setof rules passed by professional bodies
S BIETS MORED SIFE0DD Achdren
4. Setof standards adopted by professionals
DT B80T |SaaFErey Dabarew
Options :
1.¥1
2 ® 2
= %3
4. % 4

Question Number : 105 Question Id : 1889601545 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A person arrested has to be produced before a Magistrate within
2.4 538 @B T D) fotrer 6550 2.5 2ha S o Feth Héee)?
1. 48 hours
48 foéren
2. 24 hours

24 foéxen

3. One week

25 8o
4. 72 hours
72 fiodaen
Options :
1. %1
2 VD
3 ® 3
4 % 4

Question Number : 106 Question Id : 1889601546 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Writ is an order issued by High Court or Supreme Court for of our
Fundamental Rights.
8% B oo 89 28 TS &b, SrdanE Fe £°00
1. Enforcement
890

2. Encroachment

LT
3. Endangering
Saa) T
4. Dissolving
BC0%a
Options :
1.v1
2 ® 2
3 %3
4 % 4

Question Number : 107 Question Id : 1889601547 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who will discharge the duties of the President in the event of President and Vice-

president being not available?

[T0E 58050 BR DTS B H0SS060 T 2N ardeerddd 5%

DS 8T
1. The Prime Minister
SETS Sooes
2. The Chief Justice of India
27568 [T e aiT el
3. The Speaker of LokSabha
S5E 325 D36
4. The Attorney General of India
ér8) 23588 & mobdir
Options :
1. %1
2.2
= %3
4. % 4

Question Number : 108 Question Id : 1889601548 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Article 19 of the Constitution of India provides
erded Tremzofio wE, @di S 19 modcpod
1. Six freedoms
3D RS en
2. Seven freedoms
SEE ST ew
3. Five freedoms
5285 W g jen
4, Two freedoms
Tod R s en
Options :
1.v¥1
2 ® 2
3. %3
4 % 4

Question Number : 109 Question Id : 1889601549 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

‘Secular’ means
‘T 85Trass0’ @OTy
1. Full authority of Government to legislate on its people
€55 | 023833 Troe0 T wotnd |D2he to Ty ard ebsdo
2. Noking or Queen, President is Head of 5tate
T BT U5 Seaichy, T ataes eofhe
3. Treating all religions equally
8 5206 fIedTt0eS 50
4. People's government
|sa23e) [eadioed 50
Options :
1. %1
2 %2
3. ¢¥3
4 % 4

Question Number : 110 Question Id : 1889601550 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The strength of the Union Council of Ministers including the Prime Minister cannot exceed
G eSa001e3 i SO S0odhd) Sodhe Dexo oSS oSS
1. 15% of total membership of RajyaSabha
orasg 525 Ty BuSo Hd5eb ross 15%
2. 15% of total membership of LokSabha
5% 32565 Buedo HBged o ¢ 15%
3. 15% of total membership of Parliament
Fndo FERodS Hh:S 15%
4, 25% of total membership of LokSabha
%4565 Fwedo Dsdds0 & 25%
Options :
1. %1
22
3. %3
4 % 4

Question Number : 111 Question Id : 1889601551 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
f a married woman dies within seven years of marriage under unnatural
circumstances, her death is presumed to be
2.5 DT IR (R D H0SS JTe 55 BHFE S S6S HEBoDIHS, e
SSEFD] S8 1508 DO & IR0 T
1. Murder
aTebs
2. Culpable Homicide not amounting to murder
Srebso KBS FELPBS K35 SPod
3. Dowry Death
s8¢y sndeo
4. Cruelty and Harassment by Husband and Relatives

258 So8din 2odogen 155766 10 DB DO

Options :
1. %1
o %oz
3. ¥ 3
4. % 4

Question Number : 112 Question Id : 1889601552 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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‘Uniform Civil Code’ means
S0 B8 D108 @0
1. A code related to individual's public life
538 Ty HAE ADERE H0200H0DS §6
2. A codified law applicable to all persons of India irrespective of their religion
L6808 Ho0dbo BEo® :rdaDdo sy @) Sifved S80T &
EEE80DS S0
3. A code meant for Hindus only
Srochge 500 STT00S 2.8 56 Srdhah
4,  Alocal law
0% Seo
Options :
1. %1
2. ¥2
z %3
4 % 4

Question Number : 113 Question Id : 1889601553 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The first session of the Parliamentiscalled  session.
rdabotn Glng [0 AATFSEo D A 8 Denarih.
1. Winter
Ferse)
2. Primary
L2208
3. Monsoon
SPETS
4. Budget
238
Options :
1. %1
2 82
3 %3
4 ¥ 4

Question Number : 114 Question Id : 1889601554 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The concept of “Rule of Law” is a special feature of constitutional system of —

"4 &) e @03 TreT ol Siaw o) Tresofh arnd

1. Britain
EALATS]
2. USA
VIV I
3. France
(ESSN
4, Switzerland
niT ok
Options :
1.v1
2 %2
3 %3
4 ¥ 4

Question Number : 115 Question Id : 1889601555 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
The Constitution is—
oreriofio ns
1. The supreme law of the land
Td0 S ey o
2. The ordinary law of the land
B30 S Frde 8o
3. A set of official law
eoH56% 580 sy 2.5 daararo
4. The subordinate law of the land
G40 M) odSH8o
Options :
1.v1
=
= %3
4 % 4

Question Number : 116 Question Id : 1889601556 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Recognition of States was done in the year 1956 on basis

1956 €3 TraTe N80 & |FBHEE Do 238R08
1. Linguistic
2T aSamr

2. Population
2T OO0
3. Caste

oo DSormr

4.  Religion
080 HdorT
Options :
1.v¥1
2 %2
3 %3
4 % 4

Question Number : 117 Question Id : 1889601557 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
What does COPRA stands for—
COPRA &50T) Jabes-
1. Consumer Protection Act, 1986
ARTIFHrdnes 35t 80, 1986 (Consumer Protection Act, 1986)
2. Consumer Courts Act, 1985
EAr 2000 B ©5€)0, 1985 (Consumer Courts Act, 1985)
3. Consumer (Protection of Rights) Act, 1990
£e550 5000 (arBope> &5 ) 580, 1990 (Consumer (Protection of Rights) Act, 1990)
4, Consumer Co-operation Act, 1991

HRTBFOT D arFsO0 150, (1991 Consumer Co-operation Act, 1991)

Options :
1.¥1
o %oz
3 %3
4. % 4

Question Number : 118 Question Id : 1889601558 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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According to Indian Majority Act, @ major is a person who has attained the age of —
o Sedah Tozrded 980 D580, A0 HoSS oD DodS 5580 Thesh
ea0erdn?
1. 18 years
18 F00e8 yOren
2, 21 years
21 DOSed jTTED
3. 15 years

15 0o joTen

4, 16 years
16 c00aed yoren
Options :
1.v1
2 ® 3
3 %3
4. # 4

Question Number : 119 Question Id : 1889601559 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A person commits bigamy if he
2.4 528 2327027 S 65 50 & |Hohed) ot @0T)
1. Marries again when his first wife is dead
D DS 2rds SDSFonST 1k D 1Y Tndootrd
2. Marries again when his first divorced wife is alive
8 Fnded Derdoen oSS ards HASOM erd) ) HP Do Frndoerd
3. Marries again when he already has a legal wife
@b 2538 SHHADY TS S99 P Y Todoerdn
4. Has relation with a woman, besides his wife
B3 278 2ren et | e H020850 EOR &0ty
Options :
1. %1
2 %2
3. ¢¥3
4 % 4

Question Number : 120 Question Id : 1889601560 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Who is the Supreme Commander of the Armed Forces in India?

2rSaTH0S Faind S Do ES3rodkb J3%?
1. The Prime Minister

LTS 00| 3
2. The Commander-in-Chief
EXro%t ad 0D
3. The President of India
2rSes 40 O30E) T aaed
4, Minister of Defence
&5 6 ool
Options :
1. %1
2 ® 2
=¥ 3
4 % 4
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